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State Engineering Services (Prelims) Exam — 2016

Q.No: 1
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Q.No: 3
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Correct Answer

First Paper — First Shift

(Final Model Answer Key)

Purna, Girna, Bori and Shiva are
tributaries of which river

Tawa
Narmada
Son

None of these are correct

D

According to 2011 census the two
districts of M.P having maximum and
minimum literacy percentage of
females are:

Jabalpur, Jhabua
Indore, Alirajpur
Bhopal, Alirajpur

None of these are correct

C

The correct sequence of districts in
decreasing order of area is

Chhindwada, Shivpuri, Betul , Sagar
Chhindwada, Shivpuri, Sagar, Betul
Chhindwada, Sagar, Shivpuri, Betul

None of these are correct
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The main river/rivers of Bundel
khand Plateau

Betwa
Dhasan
Ken

All are correct

D

Who defeated Gwalior emperor
Vikramajit Tomar in 1517

Ibrahim lodhi
Shershah soori
Mohd-bin-tuglaqg

None of these are correct

A

How much total area of Narmada
basin?

78,289 sq.km
98,796 sq.km
96,000 sqg.km

None of these are correct

In which part of M.P Bandhavgarh
national park is situated.

BundelKhand
Central India
BaghelKhand

None of these are correct

C

TC @S & TON &I GIE o6 /AT § -
Sdar

a1
o)
g 98

1517 & 7a1fer—R & T [aameid deR
& fepdret BT ?

SoMTeH aredy
QRRATE Y
AEFHSA T
$TH W IS TE A6

AT AT T Fool Tl fohetaTr & ?

78289 gaT for.AY.
98796 3T for.AY.
96000 3T fo.#Y.

ST O FIS HE 6

YT IS¢ T 3Tl HEITGE & fohd 817
ARUTE -
Jreegus

ACTART
FU@US

STH @ IS HE 75



Q.No: 8

C

D

Correct Answer

Q.No: 9
A
B
C

D

Correct Answer

Q.No: 10

A
B
C

D

Correct Answer

Q.No: 11
A
B
C

D

Correct Answer

In Mourya Period the western part of
Malwa was known as Awantika
whose capital was Ujjain and eastern
part was known as Akra whose
capital was

Vidisha

Raisen

Bhopal

None of these are correct

A

The C.M helpline number in M.P is

139
181
180

None of these are correct

Son of Naresh Mandhata who
defeated Gandharvs is

Muchukund
Purukuts
Kirtvirya

None of these are correct

Ancient name of Damoh was
Dasharn

Tundiker

Vats

None of these are correct
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Kandariya Mahadev temple was
situated in

Khajuraho

Dhar
Mandu

None of these are correct

A

Rani Awantibai is related to which
place

Ramgarh(Mandla)
Jabalpur
Katni

None of these are correct

A

When Shahid Chandrashekhar Azad
was born in Bhabhra (Alirajpur)?

23" July 1905
23" July 1907
23" July 1906

None of these are correct

C

Amjhera regime is related to which
district

Jhabua
Dhar
Khangone

None of these are correct
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In year 2009 which of the following
"Kinnar" elected as mayor of Sagar
municipal corporation

Shabnam Mausi
Kamla John urf Kamla Mausi
Kamla bua

None of these are correct

C

Whose main writtings are "Kaviraj Ki
Kundaliyan, Death or Murder and
Amar Balidan"

Ramdhari Singh Dinkar
Subhadra Kumari Chouhan
Atal Behari Vajpai

None of these are correct

C

Samir dad is related to which game
Cricket
Hockey
Football

None of these are correct

Where was Dhrupad singer kumar
gandharv born?

Madhya Pradesh
Karnataka
Chhattisgarh

None of these are correct
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Who is known as "Kathin Kavya Ka
Pret"

Kavi Keshavdas
Kamta Prasad Guru
Makhanlal Chaturvedi

None of these are correct

A

How may districts are there in
Jabalpur division?

5

O ©o N O

Which city of M.P is known as the
"City Of Joy"

Mandu
Ujjain
Khajuraho

None of these are correct

A

Where is Rock Phosphate found in
M.P

Narasinhpur District
Jhabua District
Bhind district

None of these are correct
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First women IPS officer of M.P
service cadre is

Kiran Bedi
Asha Gopalan
Sarla Grewal

None of these are correct

The biggest cave group of M.P is
Pandava Caves

Shankaracharya Caves
Bhimbetka Caves

None of these are correct

C

Where is Tomb of Ghaus Mohammed
in M.P?

Shivpuri
Bhopal
Gwalior

None of these are correct

C

Chhahur is folk dance of which
region?

BaghelKhand
BundelKhand
Malwa

None of these are correct

A
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Which of the following is not a
literacy person of medival period?

Kumbhandas
Gajadhar bhat
Gorelal purohit

Bhavbhuti
D

Parvati Parinay , Chandishatak and
Mukut Taddik are written by

Kalidas
Keshavdas
Padmakar Bhatt

Banbhatt

D

When M.P Urdu academy is
established in Bhopal ?

1966
1976
1989

None of these are correct

First Tantya Bhil Samman in M.P is
given to whom?

Rajaram Mourya
Bheema Nayak
Shankarshah

None of these are correct

Correct Answer A
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Korku schedule tribe of Panchmarhi
region are known as

Mowasi
Bawaria
Ruma

Bandoria

D

The biggest and smallest National
highways in M.P are

NH 3, NH 25
NH 3, NH 27
NH 3, NH 76

None of these are correct

C

Where is Geo-Satelite
Telecommunication discovery centre
in M.p?

Bhopal

Indore

Guna

None of these are correct

C

Who is the writer of book "Raha
Kinare Baith"

Subhadra kumari chouhan
Shivmangal singh Suman
Keshvdas

None of these are correct

D
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Q.No: 39
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Correct Answer

For the eligibility of Ladli Laxmi
Yojna, the birth of girl should be

1 Jan 2006 or after
1 Jan 2007 or after
1 Jan 2008 or after

None of these are correct

A

When Cheif Minister Gramsadak
Yojna started in M.P ?

April 2010
April 2007
April 2008

None of these are correct

A

The birth date of Dr. Bheemrao
Ambedkar (Indian constitution
writter) is

14 April 1890
14 April 1891
14 April 1892

None of these are correct

When High Court in Madhyapradesh
was established ?

1884
1882
1887
None of these are correct

D
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Q.No: 43

Where is Alkalide Factory in M.P ?
Neemuch

Barwani

Datia

None of these are correct

A

Who is known as "Kabir of Music
World"

Tansen
Kumar Gardharva
Ustad Alauddin Khan

None of these are correct

In "Devi Ahilya Samman" which is
given to woman folk artist, how
much amount is given

Two Lakh
Three Lakh
One Lakh

None of these are correct

A

"Narwar" the capital of Raja Nal is
situated in which district of M.P?

Gwalior
Datia
Shivpuri

None of these are correct

ALY H Tohollgs HRWTT Fgl § ?
ArHT

EECIC)

gfaar

$TH @ HIS T 6

"gaftd ST T FER' F TG H Pl AT
ST ?

GIGLE]

FAR I

IEATE 3T Wi
SR A IS TE 6

AT ok HeAThRT T fGF ST arer "'
31feear IFAT " 7 fohasr T vereT fr
ST g ?

ar arg
GIGACIEC]

T o

STH @ IS HE 75

ST Tl T TAUTAT 'TRET HETTSL
g T A Ruag?



Correct Answer

Q.No: 44

A
B
C

D

Correct Answer

Q.No: 45

A
B
C

D

Correct Answer

Q.No: 46
A
B
C

D

Correct Answer
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C

The year of establishment of M.P
Sanskrit Academy is

1985
1995
1988

None of these are correct

A

Where is "Bidesiya Songs" are sung?

BundelKhand
BaghelKhand
Nimar

None of these are correct

The house of Bhils are known as ?
Koo
Hoo
Soo

None of these are correct

A

The agricultural method performed
by the Bhills is known as

Chimata
Bewar
Zooming

Padhat
A
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Q.No: 51

Which tribe performs Lahangi dance? "oi&3ll 5ca" f&hd Sietolifcl 7 o3 & ?

Bhil #rer
Baiga CE
Koul Hrel
Sahariya Heiar
D

Main god of Gond tribe is 7S Sitetlicl & JHE eadm § -
Budha Dev Jor &a
Thakur Dev S &
Dulha Dev goeT ad
All of these are correct I gl
D

Where is the Fair of Mahamritunjay HEATGA ffwﬂ FHelT gl eaTe

of M.P is held ? g2
Rewa Jar
Ujjain 35ad
Omkareshwar HiPRRR
Pachmarhi 9IHG

A

Read the following passage carefully and answer the questions given
below them in context of the passage. Certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
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Correct Answer

Q.No: 53

and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

The passage is mainly about :-

The process of developing meaning

The art of language

Adult learning versus adolescent process
None of these are correct

A

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball’ for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

A child uses expression like 'bow vow' to
Relate meaning with object

Relate meaning with size

Relate meaning with sound

Relate meaning with colour

C

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
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passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs'
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

'Over-extension' means
Not understanding

Bring additional meaning
Rejecting the word
Maintaining silence

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’'
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

'Precisely’ in the text means :



0O m™ >

Correct Answer

Q.No: 55

o 0O W r

Correct Answer

Q.No: 56

Perhaps
unmatched
somewhat
exactly

D

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball’ for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

Why does a child use strange words?
To learn language and it's process
The parents don't teach the child

The child lives alone

The child can't hear the correct sound

A

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
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and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

Size and sound relate to :
Eyes and nose

Eyes and taste

Eyes and ears

Ears and nose

C

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs’
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball’ for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

Moon here is used as
Round object

A satellite

A toy

Celestial body

A

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
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Correct Answer

Q.No: 59

O @ >

Correct Answer

Q.No: 60

o 0O @ >

passage are printed in bold fonts to help you to locate them while
answering same of the questions.

The incidents that parents retell about their child's early speech usually
involve examples of the strange use of words .Having been warned that
the flies bring germs into the house, one child was asked what 'germs'
were and the answer was "some toy the flies play with ", It is not always
possible to attach so precisely the meaning that children give to the words
they use. It seems that during the early childhood many children use their
limited vocabulary to refer to a large number of unrelated objects. One
child first used 'bow-vow' to refer to a dog and then to a fur piece with
glass eyes .Other children often relate 'bow -vow' to cows or horses.

This process is called overextension .The most common process is to over
extend the meaning of a word on the basis of understanding of size ,shape
and sound ,Next come movement and texture ,Thus the word 'ball 'extends
to all kind of round objects, including a doorknob and the moon or a 'tick -
tock' many initially mean a watch but can also be used for the car -horn
.This overextension is then followed by narrowing down each term as the
word is learnt .for example a child may mean 'ball' for each round object
like tomato, apple or a ball but has no confusion in picking out the apple
when asked to.

The child learn through antonyms much later .By the age of five years the
child has completed the greater part of the basic language acquisition
process.

What happens by the age of five to the child?

He loses memory of the past

Completes acquiring basic knowledge of language
Starts quarreling

Can't still identify objects

B

Note: - To make each sentence correct change the forms of the underlined
word.

I'm afraid tonight's performance is cancellation.
Cancel

cancelled

cancelling

No change

Note: - To make each sentence correct change the forms of the underlined
word.

Contractor was told to use strongful material for the bridge
Strengthen

Strongly

Strong

Strongs



Correct Answer

C

Note: - To make each sentence correct change the forms of the underlined word.

Q.No: 61
Why some people act 80 child?
A childlike
B childishly
Cc childish
D children

Question Deleted

Q.No: 62
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Correct Answer

Q.No: 63
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Correct Answer

Q.No: 64
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Correct Answer

Note: - To make each sentence correct change the forms of the underlined
word.

Tourist is a major industry in Nepal.
Tourism

Tour

Touring

No change

A

Note: - To make each sentence correct change the forms of the underlined
word.

To protect people is the responsible of the government
response

responding

responded

responsibility

D

Note: - To make each sentence correct change the forms of the underlined
word.

What can you conclusion from the fact?
Concluded

concludingly

concluding

conclude

D



Choose the correct alternative for each indirect speech from the given options

Q.No: 65

He said,"God knows. I have committed no sin ",

o 0O W r

He called upon God to cry that he had committed no sin
He prayed to God that he had committed no sin
He called upon God to witness that he had committed no sin

He told God that he had committed no sin

Question Deleted

Q.No: 66

o 0O W r

Correct Answer

Q.No: 67
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Correct Answer

Q.No: 68

O @ >

Correct Answer

Choose the correct alternative for each indirect speech from the given
options

He said "They will go to Chennai",

He said that they would go to Chennai

He confirmed that they will leave to Chennai
He doubted that they would go to Chennai

He told that they would have to go to Chennai
A

Choose the correct alternative for each indirect speech from the given
options

His friends condoled him his bereavement.

in, with
with, in
for, to

with, on

Select the most appropriate word for the blank from the options:-

If kirit speaks the truth, he
will be acquitted

acquits

will acquit

will be acquitting

A



Select the most appropriate word for the blank from the options:-

Q.No: 69
I carry some money in my pocket I loose my purse .
A if
B unless
C when
D in case

Correct Answer C

Choose the correct conversion of the sentence given below :

Q.No: 70
Mumbai is one of the richest towns in India.
A Mumbai is richer than all towns in India
B Very few towns in India are as rich as Mumbai
C No towns in India is as rich as Mumbai

Mumbai is the richest town in India

Correct Answer B

Choose the correct conversion of the sentence given below :

Q.No: 71

Promises should be kept
A One should keep one's promises.
B You should keep your promises.
C Promises should be remembered.

Keep your promise.

Correct Answer A

Q.No: 72 How many parts of speech in English grammar?
A Six

B Seven

C Eight

D Nine

Correct Answer C

Q.No: 73 The passive voice of the sentence "Open the door" is
A The door should be opened
B The door must be opened

C Let the door be opened



D Let it be opened by you

Correct Answer C

Q.No: 74 "I am going to Mumbai tomorrow". In this sentence the word 'tomorrow’ is
A Noun

B Pronoun

C Verb

D Adverb

Correct Answer D

Turn the following sentence into Active voice
Q.No: 75 "Football is being played by John"
Choose the correct one from the following alternatives.

John has played football
John has been played football
John is playing football

o 0O W r

John has been playing football

Correct Answer C

Q.No: 76 A FIT-TT & & AT TATIF HATE ?
A aram

B AT

C T

D HUSH

Correct Answer B

Q.No: 77 T o1, Y STIT 7T, - A "Y' FleT -WT FIAH § ?
A HEUAraS

B YR

C dAsaras

D Crepricey

Correct Answer C

Q.No: 78 FAH A FlT-TT 30T Bt ar FT A & ?



A
B
C
D
Correct Answer

Q.No: 79
A
B
C
D

Correct Answer

Q.No: 80
A
B
Cc
D

Correct Answer

Q.No: 81
A
B
C
D

Correct Answer

Q.No: 82

O O W

@' FT AHH T § _
9

TH

9

o

FIT-HT & & TATH 7 T ETaeh FT § ?
weed

ki

A

ohld

D

'Ry arar @ A ® T @ Do Ferad Fad
Al 3R e Ay AT g |
3HTBT-3TBT AT 3R TUT FY B3 &1 |
Damsmaamwa@ dF ¢ |

foraen A e 3a & FA |
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T

Lreicy
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Correct Answer B

Q.No: 83 " ST FT TAATe 7 T ¥ _
A e

B Y T

C e

D Pisic

Correct Answer B

Q.No: 84 g1 U fadtwor g § _
A GUEED

B surfora

C el

D 39 A4

Correct Answer D

Q.No: 85 _‘Eﬁﬁ# Awla-drarg?
A Rt wfer

B T wfer

C ol e

D g § F§ T A

Correct Answer A

Q.No: 86 'm?hmam#mﬂw@a%;'mﬁmwffaﬁlﬁg%?
A Far aa
B frar wael
C wam waeht
D gy weeh

Correct Answer C

Q.No: 87 ' B frw gera FTad R ?
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C
D
Correct Answer

Q.No: 88
A
B
C
D

Correct Answer

Q.No: 89
A
B
Cc
D

Correct Answer

Q.No: 90
A
B
C
D

Correct Answer

Q.No: 91

O O W

preiiakeicl
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i & g

o

A
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Correct Answer A

Q.No: 92 RAaFag e Rug T aATaT wg § _
A v afee

B Remegfeer

C lcogcol

D [coucol

Correct Answer B

Q.No: 93 AT FT AT [AIT § _
A TS FT W

B @E F TR

C W A

D A S

Correct Answer B

Q.No: 94 "AEE F A W-Reve ¥ _
A qF+IF
B a9 + IF
C AT + &
D & + I3

Correct Answer D

Q.No: 95 AR TF RN AT _
A amefieT

B "I

C st

D gefteror

Correct Answer C

Q.No: 96 59 @ UF qET Y § _
A # I g FIA IATE |
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C
D

Correct Answer

Q.No: 97
A
B
C
D

Correct Answer

Q.No: 98
A
B

C
D

Correct Answer

Q.No: 99
A
B
C
D

Correct Answer

Q.No: 100
A
B
C
D

Correct Answer

I8 I 91T F TISEHIOT F AT R Y |
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State Engineering Services (Prelims) Exam — 2016

Q.No: 1

A
B
C

D

Correct Answer

Q.No: 2

A
B
C

D

Correct Answer

Q.No: 3

A
B
C

D

First Paper — Second Shift

(Final Model Answer Key)

In ancient literature, the name of
Sehore district is mentioned as -

Nalpur
Durgpur
Bhopalpur

None of these are correct

D

In M.P. on May 17" 2008, Alirajpur
district came into existence. This is
of which number district of M.P. -

48t
49t
50th

None of these are correct

Which of the following is also known

as Black soil ?

Regur
Banger
Khadar

None of these are correct

Correct Answer A

gieT T 7 BER 5o F7 oo Fa
am@rg&rr%?

feslieh 17 AS 2008 & ALY H
HAIRTSTGR rer 31fecdca &7 3mar | I8
FEIYCA FT 5T HF &7 [FeT § -

48 ar
49 ar

50 ar
SIH U Hlg Tel 6T

T 7 ¥ Tha Freir iaﬁ” FATT
ST ST & ?

R



Q.No: 4

A
B
C

D

Correct Answer

Q.No: 5

A
B
C

D

Correct Answer

Q.No: 6

A
B
C

D

Correct Answer

Q.No: 7

A
B
C

D

Correct Answer

How many types of seasons are
found in M.P. ?

Four
Three
Two

None of these are correct

Which river of M.P is Known as
"Rewa"?

Tapti
Chambal
Kshipra

None of these are correct

D

Which of the following is not a
tributary of river Son?

Johila

Banas
Gopad
jamini

D

Benefitted districts from Mahi project
are

Alirajpur - Jhabua
Dhar - Jhabua
Ratlam - Jhabua

None of these are correct

HEGUE H fohclel Feh &l F¥ 9Ty STl
g7

EIny

GG

ar

STH U Pl WA G

FqETYSL H "@T" AT A 7T ALY Fr AT
ST ?

aredr
TFI

G
STH U Pl WA G

5T & § SieT, TA AST FHT TgTIH er
qETE?
Siifger

deTq



Q.No: 8

o 0O W >»

Correct Answer

Q.No: 9
A
B
C

D

Correct Answer

Q.No: 10

C

D

Correct Answer

Q.No: 11

o O W >

Correct Answer

At present tropic of cancer passes
through how many districts of M.P ?

12
10
14
None of these are correct

C

The farthest district from bhopal is
Singroli

Alirajpur

Balaghat

None of these are correct

A

Highest irrigated districts of M.P are

Datia, Gwalior, Sheopur,
Hoshangabad, Morena

Datia, Gwalior, Sheopur, Dindori,
Morena

Datia, Gwalior, Sheopur, Mandla,
Morena

None of these are correct

A

According to 2011 census, density of
population in Madhya Pradesh is

288
236
336

None of these are correct

AT H e QT ALIISE & fohdal ovel
T TR & ?

12

10

14

STH U Pl WA G

ALIYCET A Faas Hfad e § -
aferan, sarfor, Ay, grermere, AT
gforar, Farfory, gy, f3usily, |y¥em
A W P T G

el 2011 &Y THUATER HEIISA H
288
236
336

STH § IS T G



Q.No: 12

A
B
C

D

Correct Answer

Q.No: 13

A
B
C

D

Correct Answer

Q.No: 14

A
B
C

D

Correct Answer

Q.No: 15

According to 2011 census, which one STRTOTT 2011 & 38R 0 & 6 a¥ 3

of the following district has the
minimum population of 0-6 age
group?

Datia

Anooppur

Umaria

Dindori

C

According to 2011 census, the
correct sequence of the districts in
decreasing order of population
density in M.P is

Bhopal, Indore, Jabalpur, Gwalior
Indore, Bhopal, Jabalpur, Gwalior
Bhopal, Jabalpur, Indore, Gwalior

None of these are correct

A

The correct sequence of districts in
increasing order of area is

Datia, Bhopal, Alirajpur, Harda
Harda, Datia, Bhopal, Alirajpur
Alirajpur, Harda, Datia, Bhopal

None of these are correct

A

Who among the following being the
governor of M.P ?

Shri Shankardayal Sharma
Shri Raja Naresh Chandra Singh

Shri Dwarika Prasad Mishra

THE 1 GO A STAHedl @0 7 & fond
IECEAR I

afaar

SR SR

3ARAT
IEEEY

SIeTaTUAT-2011 38R HEAUSA &
STeIcd & ed H A ol T T8 A &

ST | IS T AGT

TP & Jod FH H ST T FA§ -

geT, EfcaT, #aTel, 3TeRTSTIR
A W FIS TET A

Aefaf@a 7 3 Si9 FEgueey & Tsgara
wWE?

A QrecaTer QAT
A o MrTeg e
A gaTRepraare A



D None of these are correct TH ¥ IS TET el

Correct Answer D

_ How many times President's rule HEIYCR H fohefelt IR Iogafer Amde
Q.No: 16 . .
imposed in M.P? STARIT IR”AT § ?
A Four times IR T
B Two times CARCIES
C Three times GIGECIES
D None of these are correct STH ¥ FIS TeT el

Correct Answer C

Q.No: 17 Who was the first Lokayukta of M.P? HEIYE & JUH Slehigerd Hiel I ?
A Shri Kashiprasad Pandey & Fwrefuare qrusy

B Shri Ramprakash Gupta AT AT T[T

C Shri P.V Dixit A .. §fea

D None of these are correct SAH q FIS el el

Correct Answer C

Q.No: 18 Terminal districts of Madhya Pradesh FeTTRer TS & i e £ -
state are

A East - Singroli, West - Alirajpur, it FaTelY, afREHT- 3TeRTeTRR, Seai-
North - Morena, South - Burhanpur  #¥T, f@ol-sEeTR

B East - Anuppur, West - Alirajpur, qﬁ-3 I, Y- 37eMRTS RAYELD -
North - Bhind, South - Balaghat vz, faoh-aramae

c East - Singroli, West - Alirajpur, et FReRIelr, afRe# - 3relRrerqe | Sead -
North - Bhind, South - Bunhanpur f@us |, cfyoll-ReaaR

D None of these are correct S8 O IS T AT

Correct Answer A

Which of the following is known as  "TAUeT &l "' & a1d & et 7 & et

Q.No: 19 "Minto Hall"? ST ST & ?

A Eroeusseent state Legislative Assembly =T TUTHEHT T TS ST



C

D

Correct Answer

Q.No: 20
A
B
C

D

Correct Answer

Q.No: 21

A
B
C

D

Correct Answer

Q.No: 22

A
B
C

D

Correct Answer

Q.No: 23

Old state Legislative Assembly House gTI?-iT%‘én?-maqT HIA

Gwalior Fort

None of these are correct

High court branches of M.P are at
Indore, Bhopal
Gwalior, Bhopal
Indore, Gwalior

None of these are correct

C

Where is industrial court of M.P is
situated?

Indore
Bhopal
Jabalpur

None of these are correct

A

In which district Ustad Allauddin
Khan Music and Art Academy is
situated?

Gwalior
Satna
Bhopal

None of these are correct

C

Fertilizer work shop , Guna is
established with the collaboration of
which countries ?

America and Russia

FaTferaX &1 foherr
STH § IS T AAGT

ALIYGET 3T~ AT T @USUIS ¢ -
g, #iarer

TaTforeR | #idrer

Ze , TaTfoRR

ST A IS TE AL

ALY AT A F ararery Fgl foa
g2

3TATE, AA3EI @ GIMd TF &edT 3TehlcHT
e S 7 Rua & ?

STH U Pl WA G

T[T U BIEATGSR HRATEAT fohef 2
AT § T fRar s=m g 2

IART U9 T



C

D

Correct Answer

Q.No: 24

A
B
C

D

Correct Answer

Q.No: 25

A
B
C

D

Correct Answer

Q.No: 26

A
B
C

D

Correct Answer

Q.No: 27

America and Italy
Italy and France

None of these are correct

First woman appointed as Governer
of M.P is

Nirmala Buch
Sarojini Naidu
Sarojini Saxena

None of these are correct

D

The M.P state Planning Commission
was constituted on -

24" October 1956
24" October 1962
24" October 1972

None of these are correct

C

Where is National Research Centre
for Soyabean(N.R.C.S) of M.P
situated -

Ujjain
Bhopal
Jabalpur

Indore

D

Which of the following is
hydroelectric power generation
station of other state

AR U 3ol
gl U Wi
SoIH @ HIS TEY G

HEGUE H TUH Al Asgurer fFgerd
g -

feretem g

LRUECICIRES

FOTSHAT TG

STH § IS T G

ALTYCET T ASTAT HAUSH T ST fahar
IRAT AT -

24 37F¢aR 1956
24 FagaR 1962
24 3ECE 1972
SoIH @ HIS TEY G

HAEGGCRN H IS [T HeTHUT oy
(T 3R E.TH.) Fgl *ua§ ?

Isoted

e 7 @ i 39 s 7 &g s
faega e & ?



C

D

Correct Answer

Q.No: 28

o 0O ®w r

Correct Answer

Q.No: 29

A
B
C

D

Correct Answer

Q.No: 30

A

B

C

D

Correct Answer

Q.No: 31

Bansagar
Pench
Jawaharsagar

None of these are correct

C

"The M.P state Mining Corporation"
of government of M.P is established
in -

1956

1967

1962

None of these are correct

C

In which district of M.P Graphite is
found

Betul
Jhabua
Dhar

None of these are correct

A

On the basis of area, the biggest and

the smallest National Parks are -

Panna and Satpuda

Kanhakisli and Pench

Kanhakisli and Jiwashma(Fossils)
(Dindori)

Kanhakisli and Sanjay (Sidhi)
C

According to census 2011, the 5
districts of smallest sex ratio of M.P

STH § IS T G

HALIUCY ATEA &anT g AR, ¥
AT e "' fr TATEAT Y IR -

1956
1967
1962

STH § IS T AAGT

ALY A Iwise fha el & aram Srar
g2

S

a

3T

9

a
SIH U Hlg Tel 6T

&% FI e & AW 93T T & BIel
TS 3T & -

Yeodl d HAYST

Flegl fordell T T
Floerl fordell a Sharsa (f$521)
ool fohdell I Horg (HTed)

SeTaUTT-2011 & 3HTAR ACIYCA H



C

D

Correct Answer

Q.No: 32

A
B
C

D

Correct Answer

Q.No: 33
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Correct Answer

Q.No: 34

A
B
C

D

are -

Bhind, Morena, Gwalior, Datia and
Shivpuri

Bhind, Morena, Gwalior, Datia and
Jhabua

Bhind, Morena, Gwalior, Datia and
Guna

None of these are correct

A

When state Election Commission is
constituted in M.P ?

19 January 1994
29 January 1994
21 January 1994

None of these are correct

D

Provision of Minimum and Maximum
number of District Panchayat
member election fields in a district
are

10, 25
10, 20
10, 35

None of these are correct

C

When Micro, Small and Medium
Industrial Act become effective in
M.P ?

2"4 October 2006

15™ August 2006

26" January 2006

None of these are correct

Correct Answer A

s, f¥ar , sarfar, gfdar ik s
SIH W IS AR AL

AEIYSA A T ATl AT &7 ST
e fopar =T ?

19 STl 1994
29 STt 1994
21 STt 1994
ST | IS TE el

Srer & forer Jaraa aeey Haaa & v
AH @ JNThcH dedm FuiRa dr o
10, 25
10, 20
10, 35

STH U Pl WA G

HEGUS H GeH, oY Ud HEIH 38T

farar ifafegs e & garmasier gam ?
2 3/CeR 2006

15 36TEd 2006

26 ST=1adr 2006

SoIH A IS AL AgT



Q.No: 35

A
B
C

D

Correct Answer

Q.No: 36

A
B
C

D

Correct Answer

Q.No: 37

o 0O @ r

Correct Answer

Q.No: 38

A
B
C

D

Correct Answer

Which is the first factory for cement
production in M.P?

Camore Cement Factory
Banmour Factory (Morena)
Satna Cement Works

None of these are correct

With the help of which country
optical fiber factory of Mandideep is
established ?

USA
Japan
France

None of these are correct

Security Paper mill, Hoshangabad
established in year -

1975-76
1963-64
1967-68

None of these are correct

C

Which of the following Plan is/are for
women ?

Dwakara Plan
Gramya Plan
Women Empowerment Plan

All are correct

D

HEIYCY A HAUC 3T T TUH tharel
HlT AT ?

HAR WAV ey
STAHN e (FX=T)
el HATC THH
ST | IS TE QT

AVAET A 3NCChe BIZAT HRETAT fhd
S & HEINT H 1T T ?

TG T IARHT
SITTeT

i

ST | IS T AeT

BFIRE dR) A, gRETEIE T TATIAT
ad 3
1975-76

1963-64
1967-68

STH U Pl WA G

AeAfafad 7 & HiA-4Y Totar Afgemait
HUg/E?

TR AlSTell
AT FrsTeAl

A wafe A
3T wdy



When Chief Minister Annapurna HEAGEY H HETHA HeaT Ol FNSTell el

Q.No: 39 Yojana is started in M.P. ? IS dr Y ?

A January 2013 SeTar-2013

B February 2014 Har-2014

C April 2008 319e1-2008

D None of these are correct SAH q IS el el

Correct Answer C

Q.No: 40 git\llr:r?rfﬁa_ndharv National honour is FAR T TSR TS T S ¥ -
A Classical Music e Hefia

B Hindustani Dance - g

C Karnataka Dance Fetice ocd

D All are correct Tt T

Correct Answer A

The amount given in Tansen National AT TSET FFATA H &1 STt aTell AT

Q.No: 41 Samman is g -

A 1.5 Lakh 1.5 9@

B 2.00 Lakh 2.00 ot@

C 2.5 Lakh 2.5 or@

D None of these are correct $AH § P15 AT gl

Correct Answer B

Q.No: 42 The head quarter of Central M.P ) e - R 5
T Gramin Bank is at - = TSR] AT AT

A Bhopal rarer

B Chhindwara IBGCCIE]

C Sagar PR

D None of these are correct STH ¥ FIS TET el

Correct Answer B
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"Direct cash transfer scheme" in
January 2013 started in which
districts of M.P ?

Khandwa, Hoshangabad, Harda
Indore, Ujjain, Bhopal
Khandwa, Khangore, Hoshangabad

None of these are correct

A

With which game Shourabh Sharma
(Dhar)is related

Cricket
Tennis
Badminton

None of these are correct

C

The scheduled tribe has maximum
population in M.P is

Gond

Meena

Bhil

None of these are correct

A

When M.P state Forest Development
Corporation is constituted :-

1975
1976
1980
1982

Correct Answer A

SAar 2013 H "SEFT H AR Thie
" FEIYER & fohet forer & wIReT Y Iy ?

Fusdl, gIETETE T &ler
$GR , 350l g HidTer
@usaT, WA d gIRETEG
STH § IS TN AL

TR AT (UR) & TFT TFa AT A E ?

fordhe

faw

dsfiea

ST | IS T AGT

AEIYCA A AT FAGEIT dToll
ST & -

A3
Hrar
afror

STH § IS T G

HEIYCY T Ie1-Tdehrd [A9TH T 75T
e fohar aram U7 ?

1975

1976

1980

1982
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A
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A
B
C

D

Correct Answer

In which district of M.P Panpur
Sanctuary is situated?

Shivpuri
Morena
Gwalior

None of these are correct

How many National highways passes
through Madhya Pradesh

17
18
16

None of these are correct

D

Where is Indira Gandhi National
Human Museum located?

Bhopal
Indore
Gwalior

Sagar
A

In which district Malanpur Industrial
development centre is situated?

Bhind
Datia
Guna

Gwalior

A

AR ITARVY FETCRT & v el &
ud g ?

AEAYSY W GIY It aTel TS
TSTATIN T el HEAT § -

17

18

16

STH U Pl WA G

AT e faehrd des fohd STt
AfYag?
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Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering some of the questions.

Unseen passage for comprehension

This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
responsibilities that go with inalienable freedom to inform.

The author's objective in writing the passage seems to be :

Make a comparison of old and new trend in sports journalism
Highlight the role of media in communication revolution

Make a case for a balanced flow of information in sports journalism
Praise the role of media in global coverage of sports events

C

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering some of the questions.

Unseen passage for comprehension
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This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
responsibilities that go with inalienable freedom to inform.

According to the author it is not necessary for journalist to make any
comment on the :

Poor performance of players

Techniques of sports journalism

Public's right to have information
Personal lives of the sports personalities

D

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering some of the questions.

Unseen passage for comprehension

This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
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press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
responsibilities that go with inalienable freedom to inform.

The author's attitude evidently is :
Idealistic

Critical

Cynical

Orthodox

B

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering some of the questions.

Unseen passage for comprehension

This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
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one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
responsibilities that go with inalienable freedom to inform.

Which of the following according to the passage is not an outcome of
information boom?

Players are earning more money these days

Sports persons are now being treated as celebrities
Quick and fast communication of sports news
Performance,whether better or worse of the player

D

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering some of the questions.

Unseen passage for comprehension

This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
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do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
responsibilities that go with inalienable freedom to inform.

According to the passage, What is actually going on in the world of sports
,in the name of information?

Misreporting

Over-reporting

Reporting of things not related with the performance of the players
Development of network between players and readers

C

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering some of the questions.

Unseen passage for comprehension

This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
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responsibilities that go with inalienable freedom to inform.

How do media help the sportspersons?

By using them in commercial advertising

By informing about their private life to public
By providing them good contacts

By giving large coverage to their activities

D

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering some of the questions.

Unseen passage for comprehension

This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
responsibilities that go with inalienable freedom to inform.

The players today don't enjoy the same freedom as was enjoyed by the
earlier players because :

They are constrained by the contracts they sign

Their fans surround them wherever they go
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Computers have made their life miserable
Today they humber of players has increased and nobody cares for them

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering some of the questions.

Unseen passage for comprehension

This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
responsibilities that go with inalienable freedom to inform.

NOTE:- CHOOSE the word that is most nearby the same in meaning as the
word given in bold in the passage.

CALL
name
invite
shout
summon

A
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Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
answering some of the questions.

Unseen passage for comprehension

This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
responsibilities that go with inalienable freedom to inform.

NOTE:- CHOOSE the word that is most nearby the same in meaning as the
word given in bold in the passage.

boom
blessing
curse
explosion
flow

C

Read the following passage carefully and answer the questions given
below them in context of the passage certain words/phrases in the
passage are printed in bold fonts to help you to locate them while
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answering some of the questions.

Unseen passage for comprehension

This is the era of information explosion in a world that has shrunk to
drawing room proportions. In an era of information explosion, everything
is as close as you want it to be. The communication revolution has made
its effect on the world of sports too. Today the fax machines and
computers have made it that if Stefan Edberg suffers a shock at
Wimbledon at 1.30 A.M. IST, the news can comfortably make into the
morning newspapers in Delhi. Today the media, especially TV and the
press bestow special attention on the sportsperson and have turned them
in to the best of national heroes and international celebrities. There were
days when top players walked out of tournament sites to neighborhood
markets and walk unnoticed for a window shopping after the matches. The
times have changed now. Today Ramesh Krishnans, Kapil Devs and
Ashwini Nachappas can't afford such privileges as they would be mobbed
at every turn, whether it is New Delhi, Lords or Beijing. Inevitably, the
information boom triggered by the media obsession with sports persons
has been both a blessing and a curse for the superstars of sport. While on
one hand the media focus has made them more marketable, and therefore,
considerably richer - with all the endorsements and the lucrative contracts
- than they would have been otherwise, the constant glare has also put
enormous pressures on the best of them. Tennis fans of '50s or '60s would
hardly know the name of Rod Laver's wife. Now any 12 or 13 years old
seems to be able to tell the name of Stefan Edberg's girl friend. This is just
one example. There are hundreds of such available in the world of sport.
In such cases, where the information -if one can call it that -has nothing to
do with a players game or even the player can take the media shelter
behind the public's right to know? Is that right absolutely? If one's right to
swing his arms ends where the others nose begins, then doesn't the right
of the media to inform and that of the public to be informed and where the
sports person's private life begins? Isn't there a line between journalistic
license and licentious journalism in the sports columns? There is of course
no attempts at pompous sermonizing here but merely an effort to see if
there is a sense of awareness in a section of the sports - press of the
responsibilities that go with inalienable freedom to inform.

NOTE:- CHOOSE the word that is most nearby the same in meaning as the
word given in bold in the passage.

fan
wing
blower
lover
admirer

D

NOTE:- To make each sentence correct change the form of the word which
is underlined. Mark the correct option:

You will need some proof of identified to enter into the premises
identifying
identification

identity
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None of these are correct

NOTE:- To make each sentence correct change the form of the word which
is underlined. Mark the correct option:

I requested the teacher to simple her explanation
simplification

simplify

simplifying

simplified

NOTE:- To make each sentence correct change the form of the word which
is underlined. Mark the correct option:

Normally no one likes criticised
criticism

critic

criticizing

critical

A

NOTE:- To make each sentence correct change the form of the word which
is underlined. Mark the correct option:

Your shoes are not suit for tennis.
suitable

suiting

suited

suits

A

NOTE:- One of the four sentences given in the option is wrong. Mark that
to write your answer:

Neither of the men was tall
The jury was divided in their opinions.
Much pains has been taken

The judge found out that he was guilty
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A
B
C
D

NOTE:- One of the four sentences given in the option is wrong. Mark that to write
your answer:

This is one of the best films that has been produced this year
She is one of the best mothers that have ever lived
Satish as well Harish and Suresh likes milk

None of these words are now used

Question Deleted

Q.No: 67

0O @ >

Note:- Choose the correct alternative for each indirect speech from the
options given below:-

He said to me ,""Thank you very much for your kindness''.
He thanked me very much for my kindness

He told me that I am very kind and he is thankful to me
He asked me to be thankful for his kindness

He informed me that his thanks are for my kindness

Correct Answer A

Q.No: 68

O @ >

Note:- Choose the correct alternative for each indirect speech from the
options given below:-

He said to the board , "Let us adopt this policy ".
He told board to adopt the policy

He suggested the board to adopt that policy

He asked the board if it can adopt the policy

He asked to please adopt the policy to the board

Correct Answer B

Q.No: 69

o 0O W r

NOTE:- Fill in the blank with appropriate preposition:

The ultimate decision rests ______ the board of directors.
With

On

Upon

To

Correct Answer A



Note:- Choose the correct conversion of the sentence given below

Q.No: 70
Self made men are always respected.
A Respect is gained by self made men
B Respectful men rise by their own efforts
C Men who are risen by their own efforts are always respected
D Men on their own are always respected

Correct Answer C

Note:- Choose the correct option for the proverb given below:

Q.No: 71
"Beating about the bushes".
A Taking the birds out from the bushes
B The bushes are being beaten
C Choosing the right bush to beat

Guessing the right answer blindly

Correct Answer D

Note:- Select the most appropriate word for the blank from the options:

Q.No: 72
It to me that she was incurable
A happened
B occurred
C flashed
suggested

Correct Answer B

Note:- Select the most appropriate word for the blank from the options.

Q.No: 73
It is not whatyousaythat_ but what you do
A matches
B implies
C matters
D moves

Correct Answer C

Note:- Select the most appropriate word for the blank from the options.
Q.No: 74
They are refugees in need of

A restoration



B rehabilitation
C recapitulation
D renovation

Correct Answer B

Note:- Select the most appropriate word for the blank from the options.

Q.No: 75
I there if I were you
A would go
B will go
C would have seen

shall go

Correct Answer A

Q.No: 76 "ERer g AEA & -
A qor

B aor

C Iy

D =
A

Correct Answer

Q.No: 77 F9H A FI-WT e NfAaras F1 @1 gU ot I @ F sAfFcraras FAr g ?
A [LZICE

B qrelt

C Ferdr

D ICECH

Correct Answer A

Q.No: 78 'FARHA areq FT YiecT T § -
A FA

B Car)

C Fagd

D FRAT

Correct Answer B



Q.No: 79 W#aﬁa—mamagﬁ?r%?

A hL

B |y
C gofe
D #fex

Correct Answer C

Q.No: 80 'St FHATCIT; T8 WITIT' qTFT H HieT - T HIATH & ?
A weUaTa®

B foreggaras

C [CECIPCY

D sfAeggaras

Correct Answer A

Q.No: 81 'g: + ST AT WA A AR AT UG FTYG FTE -
A £
: e
c guotet
D I

Correct Answer B

Q.No: 82 AT AR FARF & ' ar A RAasw ¥ -
A s

B adie

C oRT

D Ll

Correct Answer C

Q.No: 83 "SIfrT 379t FaT 7 AfAqds Aot § *, arFT 7 aifATEE e § -
A Toraras faeryor



B Hfaras f@eyor
C gRATaEE f3evor
D FTerdaraes fayor

Correct Answer B

Q.No: 84 da<d’ Ieq H GANE © —
A e

B Jgdife

C g8

D dcged

Correct Answer A

Q.No: 85 e wAw 7 q41 9 v g § ?
A JregAdeng A

B g8 aH™

C IERINSEIS

D g

Correct Answer B

Q.No: 86 'S F TAF ARTRDT HI IHY Feiedl HT GTeleT HIAT AT’ aag 7 I & -
A forer waeft

B o wath

C FRE qaH

D ueshH o

Correct Answer B

Q.No: 87 "FerdiaTa F g1 & B Rnersrer 7 Apsw A gy orve o el & 1 7% Brw v A @2
A HTEROT JrFT
B B arer

C TgaFd 99T

-]



D GRCRCIC )

Correct Answer B

Q.No: 88 'S FHY ITIHT I ATy a§ A ¢ IFT FT YE T -
A $H AT HIGhY AT ATl a8 A P |

B 39 AT AT A ATelT € § |

C U AT ATTHY aEAT AT ¥ F |

D §TH A FIE T AL

Correct Answer C

Q.No: 89 $IA / UF Ueg ACHHA § -
A CELRd

B g

C R

D Gy

Correct Answer B

Q.No: 90 'TARE' UG T dHH 79 & -
A aroreft
B AR
C IRTOTHY
D AR

Correct Answer C

Q.No: 91 T aw qe e -
A 3sad

B 3Saer

C Iooad

D Iooad

Correct Answer D

Q.No: 92 'HAA" ereg HT AT & -



A EEd
: o
C Iafda
D LCE |

Correct Answer C

Q.No: 93 'Fe eq T AT B -
A g

B aftor

c A S

D gew

Correct Answer C

Q.No: 94 $AH UF UG "FA" HT qAIGATHN AE § -
A Cing

B IGES)

C HEq

D T

9

Correct Answer B

Q.No: 95 $AH U A TcHH § -
A draer

B 9rEv

C JerdTelel

D L iccy

Correct Answer C

Q.No: 96 'g&T" ereg AT §?

O O W
- ¢
q



Correct Answer B

Q.No: 97 FIH FIT-TT g FAH AT AsaTacl FHg FT ¢ ?
A Tde

B Tty

C ded

D TR

Correct Answer C

Q.No: 98 SR A U AN aFT § -

A I w9 A IRl 7 g3 |

B g oelr & TR AT A wHe |

C € GUS & T ATEaT UT SHIAT ST 9747 |
D e ¥ 7 98 @-9R Rer &7 3 e |

Correct Answer D

Q.No: 99 P T 7 'A" HIEH FRE § ?

A A A FATE § @t Aaar ¢ |

B w3t i Ferfer F gite et @ |

C e IS W fAwad § |

D FIT ¥ FeA¥ a1 9T FAREATH ET FIAT AT |

Correct Answer C

Q.No: 100 AR ¥ UF e fyAyor § -
A Farg

B L

C T

D gus

Correct Answer A



State Engineering (Prelims) Exam — 2016
Second Paper — Second Shift
(Final Model Answer Key)

Electrical Engineering

Q.No: 1 What will be the Fourier Transform of complex exponential signal x(t)=ej""'t ?
A An impulse function

B A rectangular gate function

C A train of impulse functions

D A constant function

Correct Answer A

Q.No: 2 Mathematical relation between unit impulse function E[t]‘ and step function u(f} can be
T given by
A u(t) = f_rmu[fjd'r
B u(t) = f_:m §(7)dr
C u(t) = 6(t)
- dS{t)
D u(t) = o

Correct Answer B

If G(w) is the Fourier transform of g(t) then according to scaling property of the Fourier

Q.No: 3 transform, the Fourier transform of g(at) is given by :
A (1/1al)G((«/a))

B lal G(wa)

C a G(wa)

D G(w/a)

Correct Answer A

Q.No: 4 The convolution operation of two signals in time domain can be represented by the
T following operation in Z-transform domain

A multiplication



B Addition
C Subtraction
D Division

Correct Answer A

Q.No: 5 The Nyquist frequency of the signal x(t)=cos(100 Tt) + 100 sin(6007t) + cos(200 7Tt) is
A 100 Hz
B 600 Hz
C 400 Hz
D 200 Hz

Correct Answer B

The nature of the Fourier Series coefficients are periodic then this means signal in time

Q.No: 6 domain is

A Continuous - time periodic signal
B Continuous - time aperiodic signal
C Discrete - time periodic signal

D Discrete - time aperiodic signal

Correct Answer C

Q.No: 7 The Fourier transform of a signal *(t) = €05(&t) is given by
A [ — wy) + 6w + wy)]

B g[ﬁ[m—mn)+ 8w + wy)]

C 2rn[8(w — wy) + 6w + wy)]

D m[6(w — 2wp) + 6(w + 2wy)]

Correct Answer A

Q.No: 8 Inverse Fourier transform of a Sinc - function will be a
A Rectangular Function

B Signum Function

C Impulse Function

D Gaussian Function

Correct Answer A



Q.No: 9 Which one of the following statement is true?

A Transistor can be modelled as current controlled current source
B Transistor can be modelled as current controlled voltage source
C Transistor can be modelled as voltage controlled voltage source
D Transistor can be modelled as voltage controlled current source

Correct Answer A

— — —
The Poynting Vector (P ) in terms of electric field vector (E' ) and magnetic field vector (H

Q.No: 10 )
is given by
— = =3
A = FE.H
E
B o o
H
c g
B
— = —
D P=F=xH
Correct Answer D
Q.No: 11 The transistor which is used for designing the digital circuits generally has to operate in
A Active region
B Breakdown region
C Cutoff & Saturation region
D All are correct
Correct Answer C
Q.No: 12 At room temperature, the band gap of a silicon is as follows :
A 1.6 eV
B 1.1 eV
C 0.5 eV
D 1.3 eV
Correct Answer B
Q.No: 13 The oscillator which uses a tapped coil in the LC circuit is known as
A Colpitts Oscillator

B Hartley Oscillator



C Armstrong Oscillator
D Pierce Oscillator

Correct Answer B

= —
Q.No: 14 The relation between electric field vector (E ) and magnetic field vector () is given by
=
A E [l
Sl | jR
H £n
E
B g =+ Hofo
H
c 7 = VHofo
H
D T &
E £g

Correct Answer A

Q.No: 15 The rati9 of the _velos:ity of a wave in free space with the velocity of the wave in the
conduction medium is known as

A Space Function

B Refractive Index

C Attenuation Factor

D Poynting Vector

Correct Answer B

Q.No: 16 NAND gate will have low output if two inputs are following
A 00
B 01
C 10
D 11

Correct Answer D

Q.No: 17 A Schmitt trigger generates one of the following type of output waveform
Triangular

B Rectangular

C Trapezoidal

D Sinusoidal



Correct Answer B

Q.No: 18
A
B
C
D

For the conversation of parallel to series data, following device can be used:
Demultiplexer

Multiplexer

Decoder

Counter

Correct Answer B

Q.No: 19
A
B
C
D

EX-OR gate can work as NOT gate for the following condition
If one input can be made equal to one

If one input can be made equal to zero

By connecting both inputs together

None of these are correct

Correct Answer A

Q.No: 20
A
B
C
D

The length of instruction in 8085 micro processor is
32 bits

24 bits

8 bits

16 bits

Question Deleted

Q.No: 21
A
B
C
D

Pirani gauge can be used to measure
Very high temperature

Very low pressure

Low fluid flow

High fluid flow

Correct Answer B

Q.No: 22

O O @

Which one of the following statement is true?

In a capacitor, dielectric material between two plates reduces its capacitance

In a capacitor, dielectric material between two plates increases its capacitance

In a capacitor, dielectric material between two plates does not affect its capacitance

None of these are correct



Correct Answer B

Q.No: 23 Varactor can be defined as

A A diode which is used as a variable capacitor

B A diode which is useful for high speed switching
C A diode which is used as a variable inductor

D A diode which is used as a variable resistor

Correct Answer A

Q.No: 24 A PMMC based instrument can be used to measure
A DC (Average) value

B Maximum value

C RMS(root mean square) value

D All are correct

Correct Answer A

Q.No: 25 The Boolean expression given by XY + XY + XV i equivalent to
A XA¥

B X+Y

C X¥

D X+Y

Correct Answer A

If in a amplitude modulation (AM) based communication system P. denotes the power of

Q.No: 26 carrier and P, denotes the total power of AM wave then for modulation index = 1, the
relation between P, and P; will be

A P.=P;

B P.=P./2

C P.=P./4

D P.=3P./2

Correct Answer D

Q.No: 27 In communication system, the ergodic process concept for many random signal means
A They have similar ensemble averages

B They have similar time averages



C They have similar time and ensemble averages
D They do not have similar time and ensemble averages

Correct Answer C

The frequency modulation (FM) based communication system has the following

Q.No: 28 disadvantages over the amplitude modulation (AM) communication system:
A requirement of more output power

B requirement of more bandwidth

C requirement of more modulating power

D presence of noise in high frequency regions

Correct Answer B

Q.No: 29 Sampling theorem is useful in following communication system
A Pulse code Modulation (PCM)

B Amplitude Modulation (AM)

C Frequency Modulation (FM)

D Phase Modulation (PM)

Correct Answer A

Q.No: 30 Noise generally affects the following part of the communication system
A Transmitter

B Receiver

C channel

D None of these are correct

Correct Answer C

a8
QNo: 31 The inverse Laplace transform of 5(5+2) .
A 4(1-e*)
B 4(1 + %)
C 4(1 - e*)
4(1 + e?)

Correct Answer A

In control system, in order to represent multiple input and multiple output systems which

Q.No: 32 technique is more suitable



0O m™ >

Correct Answer

Q.No: 33
A
B
C
D

Correct Answer

Q.No: 34
A
B
C
D

Correct Answer

Q.No: 35

o 0O @ r

Correct Answer

Q.No: 36

A
B
C
D

Correct Answer

Bode plots

State space models
Root locus methods
Nyquist plot

B

The Laplace transform of a doublet can be given as

1/s

Which one of the following statement is true

By introducing a negative feedback, both system stability and system gain increases

By introducing a negative feedback, system stability increases and system gain decreases
By introducing a negative feedback, system stability decreases and system gain increases
By introducing a negative feedback, system stability and system gain both decreases

B

3z +1
The transfer function of a system is given as sP+s5+1 this system is
Unstable system
Stable system
Marginally stable system
None of these are correct

Suppose a communication channel in the presence of additive white Gaussian noise has
bandwidth 8KHz, and signal to noise ratio (SNR) = 7 then the channel capacity will be

32 Kbps
8 Kbps
24 Kbps
64 Kbps
C



Q.No: 37
A
B
C
D

Correct Answer

Q.No: 38

A
B
C
D

Correct Answer

Q.No: 39

A
B
C
D

Correct Answer

Q.No: 40
A
B
C
D

Correct Answer

Q.No: 41

O O @

The pulse width Modulation process can be achieved by
Using free-running multivibrator

Performing integration on the signal

Using a mono-stable multivibrator

Performing a differentiation on pulse position modulation
C

In frequency division multiplexing (FDM) receiver, in order to separate the channels,
following is used.

Integrator
Differentiator
Band pass filters
AND gates

C

A communication circuit resonates at frequency of 1 KHz and this circuit has Q factor Q =
10. What will be the bandwidth corresponding to half power points

100 Hz
10 Hz
1000 Hz
1 Hz

A

Thermal noise power P in a resistor R is related as follows:
P xR

Px1/R

P x R?

P is independent of R

D

The resistance for a conductor will be least for the following
DC

60 Hz

10 KHz

10 MHz



Correct Answer A

Q.No: 42 The angle modu_lated signal given as
x(t) = 20 cos( .t - 0.5 cos(100t)) has power
A 100
B 200
C 50
D 300

Correct Answer B

Suppose Pg denotes the probability of a message then the amount of information denoted

Q.No: 43 by I in bits can be given by
A Ix = -2 log, Py

B Ix = - log, Pk

C Ix = -10 log, Py

b I = 10 log, Py

Correct Answer B

Q.No: 44 The Z-transform of ﬁ(n-p) is given by
A z°P

B z°

C zP/2

D z/P

Correct Answer A

Q.No: 45 P(_)wer spectral densit_y of a s_ignal x(t) is S,(f),then the power spectral density of it's
Hilbert transformed signal will be

A -Sx(f)

B Sx(f)

C TTS.(f)/2

D 27S,(f)

Correct Answer B

Q.No: 46 Which one of the following statement is true: For modeling of ideal operational amplifier
A Voltage controlled Current source

B Voltage controlled Voltage source



C Current controlled Current source
D Current controlled Voltage source

Correct Answer B

Q.No: 47 Quantization noise is generated in the following:
A Frequency division multiplexing

B Time division multiplexing

C Pulse code modulation

D Amplitude modulation

Correct Answer C

Q.No: 48 Which is a circular polarized antenna?
A Yagi-Uda

B Parabolic reflector

C Small circular loop

D Helical

Correct Answer D

Q.No: 49 In a waveguide, the wavelength of a wave is
A Directly proportional to the group velocity

B Greater than its value in free space

C Dependent on the waveguide dimensions

D Inversely proportional to the phase velocity

Correct Answer B

Q.No: 50 Virtual ground is a ground for
A Current and not for Voltage

B Neither Current nor Voltage

C Voltage and Current both

D Voltage and not for Current

Correct Answer D

Q.No: 51 For the circuit of below figure.The voltages V, & V, are



+ A
20 -
- W
ovE =V
' 3
V; =8V, V, =12V
V, = 8V, V, = -12V

V, =-8V, V, =-12V

o 0O W >r

12v

vV, =-8V, V,

Correct Answer B

In below figure, applying KCL at node 2 gives

RS

30 ; 40

Q.No: 52 ‘v\/\v " ;'_-1

A +—2 =
4 g8
V=V, W W
B i
4 8 6
Vi—Va 12-V, _ V,
C T
4 EH] [
Vi, W43 W
D Z 1 + 2 - 2

Correct Answer C

Switch S; in figure below is closed at t=0 and switch S, is closed at t=4s. The current i(t)

Q.NO: 53 at t= o0 is



Figure.

24A
3.6 A
24A

o 0O W r

4.2 A

Correct Answer B

For the series RLC circuit of below figure, the current i(t) will show
fﬂ' i

W10,
50 1H ift)

Q.No: 54 24u(t) .D i IS

Figure.

Under damped response
Critically damped response

Over damped response

o 0O W r

Un damped response

Correct Answer C

If in a single phase AC circuit, v(t) = 120 sin(314 t + 45°) V & i(t) = 10 sin (314 t - 10°) A.

Q.No: 55 The average power absorbed in the circuit is
A 300.5 W
B 491.4 W
C 344.2 W
D 982.9 W

Correct Answer C

For the two coupled coils of figure below, the total inductance is 6H.The mutual inductance

Q.No: 56 M between two coils is



M \
/ g
a o— i — i ——os
6H : 8H
Figure.
8 H
3H

6 H
4H

o 0O W r

Correct Answer D

For the balanced delta connected load as shown in figure below, the phase current

lag =13.2 £36.87°A. Then the line current Ip is

I A

/

Q.No: 57
T TAB‘
Iy \
O—> C
“ |
O I
- s
A I_EJ =22.86 2Z6.87 A
B I_h = 22.86 £126.87° A
C TE, =22.86/-113.13" A
D _& = 22.86 £-83.13° A

Correct Answer C

Given Y parameter of a two port network as

0.3 —-0.2
Q.No: 58 [Y] = 02 03
The Z-parameter of the network Z,, is
5l
B 6l

40



D 1.5 0]

Correct Answer B

Q.No: 59 Curie temperature is the temperature above which a ferromagnetic material becomes
A Paramagnetic

B Diamagnetic

C Remains ferromagnetic

D None of these are correct

Correct Answer A

Q.No: 60 The dielectric losses occur in all solid and liquid dielectric due to
A Conduction current

B Hysteresis

C Both Conduction current & Hysteresis

D None of these are correct

Correct Answer C

A 230V, 5A energy meter on full load unity power factor test makes 60 revolutions in 360
Q.No: 61 seconds. If the designed speed of the disc is 520 revolutions per KWh,the energy recorded
by the meter is

115.10°3 KWh
115. 185 x 103 KWh
115.385 x 103 KWh

o 0O m r

115.68 x 103 KWh

Correct Answer C

Q.No: 62 Two Watt meters can be used to measure power in a

A Three phase four wire balanced load

B Three phase four wire unbalanced load
C Three phase three wire unbalanced load
D All are correct

Question Deleted

Under balanced condition of a bridge for measuring unknown impendence, if the detector

Q.No: 63 is suddenly taken out

A Measured value of impendence will be lower



B Measured value of impendence will be higher
C Measured value of impendence will not change
D The impendence can not be measured

Correct Answer C

Q.No: 64 In a spring-controlled moving iron instruments, the scale is
A Uniform

B Cramped at the lower end and expanded at the upper end
C Expanded at the lower end and cramped at the upper end

D Cramped both at the lower and the upper ends

Correct Answer D

Q.No: 65 Which A/D converter has highest conversion time?
A Flash type

B Duel Slope integration

C Successive approximation

D Ramp/Counting

Correct Answer B

Q.No: 66 The dynamic resistance can be important when a diode is
A Reverse-biased

B Forward-biased

C In reverse breakdown

D Unbiased

Correct Answer B

Q.No: 67 A diode that has a negative resistance characteristic is the
A Schottky diode

B Tunnel diode

C Laser diode

D Hot-carrier diode

Correct Answer B

For the circuit of figure below, which is a stiff voltage divider based transistor circuit, the

Q.No: 68 emitter current I¢ is



Crll]“.'

10k () Eg%;lk{l

Vpp=0.7V, B, =100

oY
ju]
m

s

5.6k()
s600)
A 5.16 mA
B 5 mA
C 4.9 mA
D 4.96 mA

Correct Answer C

A certain common emitter amplifier has a voltage gain of 100. If the emitter bypass

Q.No: 69 capacitor is removed,

A The circuit will become unstable
B The voltage gain will decrease
C The voltage gain will increase

D The Q point will shift

Correct Answer B

Q.No: 70 In the certain common mode operation of the differential amplifier,
A Both inputs are grounded

B The outputs are connected together

C An identical signal appears on both inputs

D The output signals are in phase

Correct Answer C

Q.No: 71 A depletion MOSFET operates in

The depletion mode only

B The enhancement mode only
C The ohmic region only
D Both the depletion and enhancement modes



Correct Answer D

A certain inverting amplifier has a closed loop gain of 25. The op-amp has an open loop
Q.No: 72 gain of 1,00,000. If another op-amp with an open loop gain of 2,00,000 is substituted in
the configuration, the closed loop again

Doubles
Drops to 12.5

Remains at 25

o 0O @ r

Increases slightly

Correct Answer C

Q.No: 73 The damping factor of an active filter is set by
A The negative feedback circuit

B The positive feedback circuit

C The frequency selective circuit

D The gain of the op-amp

Correct Answer A

Q.No: 74 The 2's compliment of 11001000 is
A 00110111
B 00110001
C 01001000
D 00111000

Correct Answer D

Q.No: 75 A 3-variable karnaugh map has
A Eight cells

B Three cells

C Sixteen cells

D Four cells

Correct Answer A

Q.No: 76 To implement the expression ABCD + ABCD + ABCD, it takes one OR gate and
A One AND gate
B Three AND gate

C Three AND gates and four inverters



D

Correct Answer

Q.No: 77
A
B
C
D

Correct Answer

Q.No: 78
A
B
C
D

Correct Answer

Q.No: 79
A
B
C
D

Correct Answer

Q.No: 80

A
B
C
D

Correct Answer

Q.No: 81

Three AND gates and three inverters

C

In general, a multiplexer has

One data input, several data outputs and selection inputs
One data input, one data output and one selection input
Several data inputs, several data outputs and selection inputs
Several data inputs, one data output and selection inputs

D

Like the latch, the Flip-Flop belongs to a category of logic circuits known as
Monostable multivibrators

Bistable multivibrators

Astable multivibrators

One shots

A modulus 12 counter must have
12-Flip-Flops

3-Flip-Flops

4-Flip-Flops

Synchronous clocking

C

The bit capacity of a memory that has 1024 addresses and can store 8 bits at each address
is

1024
8192
8

4096

In a 3-phase fully controlled bridge rectifier the firing pulse frequency is
3 times the line frequency
6 times the line frequency

9 times the line frequency



D

Correct Answer

Q.No: 82

A
B
C
D

Correct Answer

Q.No: 83

A
B
C
D

Correct Answer

Q.No: 84

o 0O m r

Correct Answer

Q.No: 85

Same as line frequency

In a step-down converter using pulse width modulation, T, = 3 x 103s and Tos = 1 x 1073s.
The chopping frequency is

333 Hz
250 Hz
500 Hz
1000Hz
B

A thyristor has internal power dissipation of 40W and is operated at an ambient
temperature of 20°C. If thermal resistance is 1.6 °C/W, the junction temperature is

114 °C
64 °C
94 °C
84 °C
D

The characteristic equation of the closed loop system of figure below is
R 4 > o »Y
s+1

10
s+ 10

s?+11s+10=0
s?+11s+130=0
s?+11s+120=0
s2+10s+12=0
B

{ [ .3)
E[Sj N \S+D.1:]\S+G 2

The error function of a feedback system is 5(540.1)(540.5)40.5(541} The steady
state value of e(t) is

0.001
0.1
0.01



D None of these are correct

Correct Answer D

Closed loop transfer function of a unity feedback system is given by
Y(s) W%,

R(s) 52 +2F wpst+wh

System k, (velocity error constant) is

Q.No: 86

cd_n
A 2{
1
co
2
D i
gy

Correct Answer A

The transfer function of a lag compensator is

Q.No: 87 D(s) = Ehars :
1+1s5 . The value of  is given by
A =1
B a>1
C <1
D i is any constant
Correct Answer B

A state variable formulation of a system is given by the equations

=00 SIEl+ [l

Q.No: 88 x
1
i af]
The transfer function of the system is
1
A (s+1){5+3)
1
B
s+1
1
C
5+3
D None of these are correct

Correct Answer B



Q.No: 89 Let P; = core loss and P. = copper loss. A transformer has maximum efficiency when

A P; = 2P,
B P; = 1.5P,
C P, = P,

D P; = 0.5P,
Correct Answer C

Q.No: 90 Pulsation loss in rotating machines occurs in
A Pole body

B Pole shoes

C Yoke

D Stator and rotor cores

Correct Answer B

Q.No: 91 The armature reaction mmf in a DC machine is
A Sinusoidal

B Trapezoidal in shape

C Rectangular in shape

D Triangular in shape

Correct Answer D

Q.No: 92 For a given torque, reducing the field turns of a DC series motor
A Increases its speed demanding more armature current

B Increases its speed but armature current remains the same

C Decreases its speed demanding less armature current

D Decreases its speed but armature current remains the same

Correct Answer A

Q.No: 93 Synchronous motor speed is controlled by varying
A Field execution

B Supply voltage

C Supply frequency only

D Both (Supply voltage) and (Frequency)

Correct Answer D



Q.No: 94 In a 3-phase induction machine at low slip, the torque slip characteristic is

1
A TDC—,‘

g2
B T oC 52

11
D T s

Correct Answer D

The power input to an induction motor is 40 kW when it is running at 5% slip. The stator

Q.No: 95 resistance and core loss are assumed negligible. The torque developed is synchronous
watts is

A 42 kW

B 40 kW

C 38 kW
2 kW

Correct Answer B

Q.No: 96 The converter which can feed power in any one of the four quadrants is
A Semi converter

B Full converter

C Dual converter

D A combination of semi and full converter

Correct Answer C

Q.No: 97 Circuit breakers usually operate under

A Transient state of short circuit current

B Sub-transient state of short circuit current
C Steady state of short circuit current

D After dc component has ceased

Correct Answer A

Q.No: 98 Current in the primary writing of CT depends on
A Burden in the secondary winding of a transformer

B Load connected to the system in which CT is being used for measurement



C Both burden on the secondary and load connected to a system
D None of these are correct

Correct Answer B

Q.No: 99 A synchronous condenser is

A An induction motor

B Under excited synchronous motor
C Over excited synchronous motor
D DC generator

Correct Answer C

Q.No: 100 Power generation cost reduces as

A Diversity factor increases and load factor decreases
B Diversity factor decreases and load factor increases
C Both diversity as well as load factor decreases

D Both diversity as well as load factor increases

Correct Answer D



Q.No: 1

C

D

Correct Answer

Q.No: 2

D

Correct Answer

Q.No: 3

A
B
C
D

Correct Answer

State Engineering (Prelims) Exam — 2016
Second Paper — Second Shift
(Final Model Answer Key)

Civil Engineering

If f. f is the characteristic strength of concrete then as per the Indian Standard (IS) 456:
2000, the modulus of elasticity of the concrete is

5700\/j ek
5200\/j ek
sooon ck

None of these are correct

C

The minimum tension reinforcement required in the concrete beam should not be less than
(here, width of the beam = b ; depth of the beam = d ; and yield strength of steel= f, )

004b-d

0.12
100 >
0.85h-d
5
0.87h-d

The one-way simply-supported slab for a room of plan dimensions 9 m x 4 m carries
ultimate working load of 9 kN/m. The design moment for the slab should be

12.00 kN.m
18.00 kN.m
9.00 kN.m
27.00 kN.m
B



Q.No: 4
A
B
C
D

Correct Answer

Q.No: 5

0O @ >

Correct Answer

Q.No: 6

A
B
C
D

Correct Answer

Q.No: 7

A
B
C
D

Correct Answer

Q.No: 8

A reinforced concrete (RC) column with slenderness ratio greater than 12 is classified as
short column

long column

axially loaded column

stub column

The critical section for computing maximum bending moment for the design of isolated
footing supporting a concrete column is (considering d as distance between the column
face and the footing edge)

at the face of the column

at a distance d from the column face
at the center of the column

at a distance d/ 2 from the column face

A

As per the Indian Standard (IS) 3370 : 2009, the minimum grade of concrete to be used
in liquid retaining structures should be

M20
M25
M30
M15
C

A vertical wall of a circular bunker is subjected to horizontal pressure due to coal stored
therein. The wall of the bunker is designed for

Axial tension

Hoop tension and shear force
Hoop tension and bending moment
All are correct

C

In a 10 m long simply-supported prestressed concrete beam, if prestressing force = P;
eccentricity = e; area of cross-section = A; section modulus = Z; bending moment due to
dead load = My; bending moment due to live load = M, the resultant stress due to dead
load and live load at top fiber at mid-span is given by
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Correct Answer A

As per the Indian Standard (IS) 800 : 2007, the partial safety factor for material

Q.No: 9 resistance governed by yielding failure of the steel is
A 1.10
B 1.15
C 1.20
D 1.50

Correct Answer A

Q.No: 10 A solid gte_el plate having yield strength of 250 MPa, the design strength in yielding
(N/mm*?) is

A 200

B 217

C 227

D 250

Correct Answer C

A plate of size 100 mm x 10 mm having yield strength of 250 MPa, the design strength of

Q.No: 11 plate in yielding of the cross-section is
A 167 kN
B 200 kN
C 217 kN
D 227 kN

Correct Answer D



Q.No: 12

A
B
C
D

Correct Answer

Q.No: 13

o O W >

Correct Answer

Q.No: 14

A
B
C
D

Correct Answer

Q.No: 15

A
B
C
D

Correct Answer

Q.No: 16

The Indian Standard (IS) 800: 2007 divides various compression member cross-sections
into how many buckling classes?

1

A W

As per the Indian Standard (IS) 800 : 2007, with respect to serviceability and when
transverse stiffeners are not provided, the d/ Iw ratio of the web should be less than or
equal to (depth of web = d; thickness of web = {!'11:; and yield stress ratio of web = 5“')

400 &W
250 £w
200 W

150 €W
C

In the design of a base plate, the bearing strength of concrete as per the Indian Standard
(IS) 800 : 2007, is taken as (f. is characteristic strength of concrete)

0.4 fo
0.45
0.5 fo
0.60 f
B

The Indian Standard (IS) 800 : 2007 recommends, in taking advantage of reduced design
forces, that the purlins be designed as

continuous beams
simply-supported beams
cantilever beams
tension members

A

The principal rafter of roof truss is inclined at an angle of 15°. No access is provided
except maintenance. The roof is subjected to imposed load of 0.75 kN/m?, the design
imposed load is

1.50 kN/m?
0.75 kN/m?



C 0.65 kN/m?
D 0.40 kN/m?

Correct Answer C

Q.No: 17 The plastic modulus of rectangular beam of width 200 mm and depth 400 mm is
A 2 x 10° mm?3

B 5.33 x 10° mm?

C 8 x 10° mm?

D 1.07 x 10° mm?3

Correct Answer C

The stiffness matrix for the beam shown in the following figure is

Q.No: 18 :fﬁ ) ey
= %%/A DT
e &m e 8m .
rl4 1]
A ALY
4 | 4_
erf4 1]
B RS
4|1 2]
erf4a 1]
C —_—
211 2
erf4a 1]
D pe Ll by
2 _1 4_

Correct Answer B

Using strain energy method, the vertical deflection at O is (take modulus of elasticity, E =
2 x 10° N/mm?, cross-sectional area of wire, A = 100 mm?).

A
R R R B P i e /.'«"iéﬁ‘

\
Q.No: 19 / 3m

424 m
1

10 kN

2.12 mm
B 21.2 mm



C 1.50 mm
D 15.0 mm

Correct Answer A

If m is number of members; r is reactions; and j is number of joints then in case of a

Q.No: 20 planar structure, 3m + r < 3j leads to
A stable structure

B determinate structure

C unstable structure

D indeterminate structure

Correct Answer C

The Ryve's formula to determine the design discharge from catchment is given by
Q.No: 21 (constant depending on nature of the catchment and location = C; catchment area in
square kilometers = A)

CA3/2
CA?/3
AC3/2

o 0O m »r

AC?/3

Correct Answer B

Maximum shear stress for rectangular section is (total transverse shear at the section = V;

Q.No: 22 entire cross-sectional area = A)
¥
A =
A
2V
B
34
3V
C
24
V
D ) 4

Correct Answer C

Maximum deflection at the mid-span of a simply-supported beam of span |, with
Q.No: 23 uniformly distributed load (w) all over the beam span, and flexural rigidity EI, is
(modulus of elasticity = E; moment of inertia of beam = I)
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Correct Answer B

In PERT analysis of a project having large number of activities in its critical path, which

Q.No: 24 of the following assumption is correct?

A Both activity durations and project completion time follow b distribution

B Both activity durations and project completion time follow normal distribution

C Activity durations follow normal distribution, but project completion time follows
B distribution

D Activity durations follow p. distribution, but project completion time follows

normal distribution

Correct Answer D

Q.No: 25 Latest start of an activity is always

A greater than or equal to latest event times of all the preceding nodes
B less than or equal to earliest event times of all the preceding nodes
C equal to the latest event times of all the preceding nodes

D equal to the earliest event time of all the preceding nodes

Correct Answer A

Q.No: 26 Downtime of an equipment is

A the time \_Nhen equipment shall have to be returned to the owner due to expiry of its
lease period

B the period of time when equipment is idle for want of work

C the period of time that the equipment fails to provide or perform its primary function

D the time when contractor has to do the down payment before taking equipment on

rent

Correct Answer C



Q.No: 27

A
B
C
D

Correct Answer

Q.No: 28
A
B
C
D

Correct Answer

Q.No: 29
A
B
C
D

Correct Answer

Q.No: 30

A
B
C
D

Correct Answer

Q.No: 31

Among the following excavators, the most suitable excavator for dredging purposes will
be

back hoe
front shovel
scraper
dragline

D

Physical life of an equipment is defined as

age at which the equipment is worn out and it can no longer reliably produce
the life over which the equipment can earn a profit

time period that maximizes the profit over the equipment life

age at which depreciation cost exceeds the purchase cost

A

Outriggers are used for

crawler mounted mobile cranes to enhance its stability
wheel mounted mobile cranes to enhance its stability
fixing the lattice boom in a crane

fixing the telescopic boom in a crane

The relationship between the capital recovery factor and sinking fund factor in a uniform
series of payments is given by

Capital recovery factor = Sinking fund factor - Interest rate
Capital recovery factor = Sinking fund factor - (Interest rate)?
Capital recovery factor = Sinking fund factor + (Interest rate)?
Capital recovery factor = Sinking fund factor + Interest rate

D

A recurring deposit of Rs. 5000 per month for 12 installments will grow to at the
end of 12 months for the given nominal interest rate of 12 percent, but compounded
monthly (consider deposit being done on the last day of the month and also accrual of
interest being calculated on the last day of the month).

Rs. 60,000
Rs. 62,834



C
D

Correct Answer

Q.No: 32
A
B
C
D

Correct Answer

Q.No: 33
A
B
C
D

Correct Answer

Q.No: 34

o 0O W r

Correct Answer

Q.No: 35

o 0O W r

Correct Answer

Rs. 63,413
Rs. 64,047
C

While comparing alternatives of different lives, most preferred method would be
net present worth analysis

net future worth analysis

net annual worth analysis

break even analysis

C

Earnest money is generally asked to be deposited

at the time of purchase of tender document

at the time of submission of bid

by the successful bidder after he gets the letter of acceptance
at the time of entering the agreement

A contractor agreed to build 30 temporary sheds in 90 days at a price of Rs. 10000/ unit.
Twenty days later, the contractor has finished 8 sheds with an actual total cost of
Rs. 85000. What is the status of the project?

The project is time and cost overrun

The project is time overrun and cost under run
The project is time under run and cost overrun
The project is time and cost under run

(o

If the excavation of earth is done manually then it costs Rs. 80 per m3. A Machine can
excavate at a fixed cost of Rs. 60000 plus a variable cost of Rs. 20 per m>. The quantity
of earth for which the cost of excavation by machine will be equal to the cost by manual
excavation is

500 m?
1000 m3
1500 m?
2000 m?
B



Q.No: 36

A
B
C
D

Correct Answer

Q.No: 37

A
B
C
D

Correct Answer

Q.No: 38

A
B
C
D

Correct Answer

Q.No: 39

A
B
C
D

Correct Answer

Q.No: 40

A solution has 100 mg/L NH; and 100 mg/L glucose. Calculate theoretical oxygen
demand of this solution?

483.14 mg/L
106.67 mg/L
400 mg/L
350 mg/L

A

Say a raw wastewater sample from AA WWTP has 5-day BOD equals to 2000 mg/L
(reaction constant k = 0.23/day at 20°C). Calculate value of ultimate BOD?

2826 mg/L
2296 mg/L
2000 mg/L
2926 mg/L
D

Calculate pOH of a buffer solution containing 0.02M acetic acid and 0.02M sodium
acetate? (given pKa = 4.74)

9.0
6.0
9.26
4.0
C

Identify coagulant with highest power for coagulating positive colloids: FeCls3; Na3;S0,;
CeH1,06; NazPO,

FeCl;
NasS0,
CeH1506
NasPO,
D

A treated wastewater (initial contaminant concentration, flow rate = 5C, 0.2Q) enters a
stream (initial concentration, flow rate = 0.01C, Q). Calculate contaminant concentration
in stream immediately after mixing of wastewater with stream water?

0.84C
0.04C
1.0Q



D

Correct Answer

Q.No: 41

A
B
C
D

Correct Answer

Q.No: 42

A
B
C
D

Correct Answer

Q.No: 43

o 0O m r

Correct Answer

Q.No: 44

o 0O m r

1.2Q
A

What is the remaining percentage of pathogens after 1 minute of contact time during
chlorination? (Assume K = 0.046/min).

90%
95.50%
99%
88%

B

Calculate number of moles of oxygen required for reacting with one mole of ammonium
ions to convert to nitrate ions?

2
2.5
3
4
A

An experiment shows that a concentration of 0.1 g/m? of free available chlorine yield a
99% kill of bacteria in 8 minutes. Calculate disinfection rate constant (1 /min)? Assume
that Chick's Law and Watson's Law hold with n = 1.

0.4706 /min
0.2056 /min
0.7056 /min
0.5756 /min
D

Look at the following relationship between concentration of free residual chlorine and
contact time required for 99% kill (Watson's Law: C%2¢ t, = A (constant) for different
pathogens).

Pathogen type | Adenovirus 3 | E.coli | Coxsackievirus A2 AA
4. (constant) 0.098 024 6.3 0110

Which pathogen has maximum resistance for chlorination?
E.coli

Adenovirus

Coxsackievirus A2

AA



Correct Answer C

Q.No: 45 Determine maximum adsorption capacity of alumina (Langmuir isotherm: Q =
T [22C;]1/[1+35C;] where Q is mol Anthracene/kg alumina; C; = mol Anthracene/L liquid)?

A 0.02 mol/kg

B 0.629 mol/kg
C 375 L/mol
D 22 mol/kg

Correct Answer B

Look at the following table:

Non carbonate hardness % 11..1g.-I, s Total magnesium | 15 mg/L
CaCOs = =
s x 68 mg/L as Desired total 80 mg/L as
.No: 46 7 = 5 :
Q.No Allalmtly CaCOs hardness in water | CaCOs3
Residual carbonate hardness | 35 mg/L as
(cannot be removed) CaCOaz

Calculate amount of magnesium hardness (in mg/L as CaCO3)?
31.25 mg/L as CaCO;

3.12 mg/L as CaCO;

10 mg/L as CaCO;

o 0O m >r

100 mg/L as CaCO;

Question Deleted

Calculate contribution of removal of phosphorous in primary settling tank to overall
removal in wastewater treatment plant? Plant schematic is: Influent water - Primary
settling tank e Biological aeration tank e Secondary settling tank = Effluent water.

Q.No: 47 Parametor Influent water | After settling (i.e. influent | Effluent water
to aeration tank)
phosphorous 7 mg/L 6 mg/L 5 mg/L
A 40%
B 45%
C 50%
52%

Correct Answer C

Q.No: 48 A wastewater treatment plant disposes of its effluent in a surface stream. Characteristics
T of the stream and effluent are shown below.



Pt _ _ Sr{‘eam W.asteu.'ater
wastewater | water | mix stream
water
Flow (m’/s) 0.2 4
Dissolved oxygen mg/L 1 7
BOD:s at 20°C. mg/L 100 2
Oxygen consumption rate (K1 at 20°C) 02 0.2 0.23
(1/day)
Oxyeen reaeration rate (K2 at 20°C) (1/day) | — 03 03

For 20°C stream water temperature, equilibrium concentration of oxygen = 9.17 mg/L.
Assuming no temperature correction is required, answer the following:
Calculate ultimate BOD of wastewater and stream water mix water?

A 8.5 mg/L
B 9 mg/L

C 9.5 mg/L
D 9.76 mg/L

Question Deleted

Q.No: 49

o 0O m >r

Correct Answer

Q.No: 50

A
B
C
D

Correct Answer

Q.No: 51

An anaerobic reactor, operated at 35°C, treats wastewater with a flow of 200 m3/d and a
biological soluble COD (bsCOD) concentration of 500 g/m?>. At 90% bsCOD removal and a
biomass synthesis yield of 0.04 g Volatile Suspended Solids/ g bsCOD used, calculate
amount of COD consumed (in kg/d)?

90
100
50
110
A

Lake water contains phosphate ions. Which specie would be formed if ferric ions in form
of ferric chloride are added in lake water?

Sodium chloride
Ferric chloride
Ferric phosphate
Ferrous hydroxide
C

Order 4 solutions in decreasing order of their BOD values?
Industrial water > river water > tap water > bottled water
Tap water > bottled water > river water > industrial water

Bottled water > tap water > river water > industrial water



D

Correct Answer

Q.No: 52
A
B
C
D

Correct Answer

Q.No: 53

A
B
C
D

Correct Answer

Q.No: 54
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Correct Answer

Q.No: 55

O @ >

Correct Answer

River water > industrial water > tap water > bottled water

A

Order 4 disinfectants in increasing order of their disinfection power?
Ozone < HOCI < monochloramine < NCI;
Ozone < NCI; < Monochloramine < HOCI
NCI; < HOCI < Monochloramine < Ozone
NCI; < Monochloramine < HOCI < Ozone

D

A soil sample having a void ratio of 1.3, water content of 50% and a specific gravity of
2.60, is in a state of

partial saturation
full saturation
over saturation
under saturation

Given for a sample of a river sand:

Void ratio at the densest state = 0.40

Void ratio at the loosest state = 1.20

Which one of the following correctly represents the relative density of a sample prepared
with a void ratio of 1.0?

12.5 %
25 %
75 %
87.5 %
B

Which one of the following equations correctly gives the relationship between the
specific gravity of soil grains (G) and the hydraulic gradient (i) to initiate 'quick’
condition in sand having a void ratio of 0.5?

G=0.5i+1
G=i+0.5
G=15i+1
G=1.5i-1
C



Q.No: 56
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Correct Answer

Q.No: 57
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Correct Answer

Q.No: 58

A
B
C
D

Correct Answer

Q.No: 59
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Correct Answer

Q.No: 60

A flownet of a cofferdam foundation has 6 flow channels and 18 equipotential drops.
The head loss during seepage is 6 m. If the coefficient of permeability of soil is 4 x 10°
5 m/min, then the seepage loss (m3/day) is

72

8
0.115
1.037
C

A concentrated load of 50 kN acts vertically at a point on the soil surface. If

Boussinesq's equation is applied for computation of stress, then the ratio of vertical
stresses at depths of 3 m and 5 m respectively vertically below the point of application of
load is

0.36
0.60
1.66
2.77
D

While increasing the pressure to 150 kPa from 50 kPa, the change in void ratio of soil is
observed as 0.12 in a consolidation test. The compression index of soil is

0.03
0.06
0.25
0.19
C

For a certain loading condition, a saturated clay layer undergoes 40% consolidation in a
period of 178 days. What would be the additional time required for further 20%
consolidation to occur?

89 days
222.5 days
267 days
400.5 days
B

A slope is to be constructed at an angle of 30° to the horizontal from a soil having the
properties, c = 15 kN/m?, ¥ = 19 kN/m?. Taylor's stability number is 0.046. If a factor of
safety (with respect to cohesion) of 1.5 is required, then the safe height of the slope will
be



A 25.7 m
B 17.2 m
C 12.8 m

114 m

Correct Answer D

Consider the following statements:

1. A recovery ratio of less than 1 implies that the soil has compressed.

2. A recovery ratio of greater than 1 implies that the soil has swelled.
Q.No: 61 3. A recovery ratio of less than 1 implies that the soil has swelled.

4. A recovery ratio of greater than 1 implies that the soil has compressed.

Which of these statements is/are correct?

A 1and 2

B 1 only

C 3and 4
4 only

Correct Answer A

A soil has an angle of shearing of 30° and cohesion of 35 kN/m?. If the specimen of this
Q.No: 62 soil is subjected to a tri-axial compression test, then the value of lateral pressure in the
cell for failure to occur at total stress of 300 kN/m? will be

243.21 kN/m?
44.41 kN/m?
103.21 kN/m?
59.59 kN/m?

o 0O W r

Correct Answer D

An earth-retaining structure may be subjected to the following lateral earth pressures:
1. Earth pressure at rest;
2. Passive earth pressure;

Q.No: 63 3. Active earth pressure.
The correct sequence of the increasing order of magnitudes of these pressures is
A 3,2,1
B 1, 3,2
C 1,2,3
D 3,12

Correct Answer D

Q.No: 64 A retaining wall retains a sand strata with ¢) = 30° up to its top. If a uniform surcharge of



12 t/m? is subsequently put on the sand strata, then the increase in the lateral earth
pressure intensity on the retaining wall will be

A 0 t/m?
B 4t/m?
C 6 t/m?
D 12 t/m?

Correct Answer B

Consider the following statements associated with local shear failure of soils:
1. Failure is sudden with well-defined ultimate load.
2. This failure occurs in highly compressible soils.

Q.No: 65 3. Failure is preceded by large settlement.
Which of these statements are correct ?

A 1,2and 3

B 1 and 2

C 2and 3
1and3

Correct Answer C

For a proposed building, raft foundation, isolated footings and combined footings are
Q.No: 66 being considered. These foundations are to be listed in the decreasing order of preference
in terms of performance. Which one of the following is the correct order of listing ?

Raft foundation - Combined footings - Isolated footings
Isolated footings - Raft foundations - Combined footings

Combined footings - Raft foundations - Isolated footings

o 0O W r

Combined footings - Isolated footings - Raft foundations

Correct Answer A

Consider the following statements regarding negative skin friction in piles:
1. It is developed when the pile is driven through a recently deposited clay layer.
2. It is developed when the pile is driven through a layer of dense sand.

Q.No: 67 3. It is developed due to a sudden drawdown of the water table.
Which of these statements is /are correct ?

A 1 alone

B 2 alone

C 2and 3

D 1and3

Correct Answer D



Q.No: 68
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Correct Answer

Q.No: 69
A
B
C
D

Correct Answer

Q.No: 70

A

B

C
D

Correct Answer

Q.No: 71
A
B
C
D

Correct Answer

Q.No: 72

O O @

A square pile of section 30 cm x 30 cm and length 10 m penetrates a deposit of clay
having c = 50 kN/m? and the adhesion factor = 0.8. The load carried by the pile shaft
only is

1920 kN
750 kN
600 kN
480 kN
D

The natural frequency of a system increases with

an increase in the stiffness of the system

a decrease in the mass of the system

both increase in the stiffness of the system and decrease in the mass of the system
neither increase in the stiffness of the system nor decrease in the mass of the system

C

Which of the following is true in case of railway track maintenance ?

Claw bar is used to correct track alignment while crow bar is used to remove dog
spikes

Crow bar is used to correct track alignment while claw bar is used to remove dog
spikes

Only claw bar can be used to correct track alignment and remove dog spikes
Only crow bar can be used to correct track alignment and remove dog spikes

Choice of gauge depends on

volume of traffic only

speed of train only

neither (volume of traffic) nor (speed of train)
both (volume of traffic) and (speed of train)

D

Switch angle depends on

heel divergence only

length of tongue rail only

neither (heel divergence) nor (length of tongue rail)

both (heel divergence) and (length of tongue rail)



Correct Answer D

Q.No: 73 The reception signal is

A outer signal only

B starter only

C neither (outer signal) nor (starter)
D both (outer signal) and (starter)

Correct Answer A

Q.No: 74 As per ICAO, for A, and B type of airports, maximum effective grade is
A 1.75%

B 1.5%

C 1.25%

D 1%

Correct Answer D

Q.No: 75 The capacity of parallel runway system depends primarily on
A lateral spacing between two runways

B distance from terminal

C slopes of adjacent areas

D length of runways

Correct Answer A

Q.No: 76 The ba_sic runway length should be increased at the rate of X percent per Y m rise in
elevation above mean sea level, where.

A X =6;Y =200

B X=7;Y =300

C X=7;Y =200

D X=6;Y =300

Correct Answer B

Q.No: 77 Wind rose diagram is used for the purpose of deciding

runway orientation

B runway capacity
C runway cross-section
D location of taxiways



Correct Answer A

Q.No: 78 Among various stages of survey in highway alignment, the correct sequence is
A reconnaissance, map study, and preliminary survey

B reconnaissance, map study, and detailed survey

C map study, reconnaissance, preliminary survey and detailed survey

D none of these are correct

Correct Answer C

Q.No: 79 Reaction time of driver increases with
A increase in vehicle length

B decrease in vehicle speed

C increase in vehicle speed

D decrease in vehicle length

Correct Answer B

Q.No: 80 Enoscope is used to find

A space-mean speed only

B spot speed only

C spot speed and space-mean speed
D flow of vehicles only

Correct Answer B

Q.No: 81 Desire lines are plotted in

A origin and destination studies
B speed studies

C axle load studies

D none of these are correct

Correct Answer A

Q.No: 82 The length of transition curve is dependent on

A rate of change of superelevation

B rate of change of centrifugal acceleration

C both rate of change of superelevation and rate of change of centrifugal acceleration
D neither rate of change of superelevation nor rate of change of centrifugal

acceleration



Correct Answer

Q.No: 83
A
B
C
D

Correct Answer

Q.No: 84
A
B
C
D

Correct Answer

Q.No: 85
A
B
C
D

Correct Answer

Q.No: 86

A
B
C
D

Correct Answer

Q.No: 87

O 0O w

C

Which of the following is used in a regular pavement maintenance activity?
Tack coat

Prime coat

Fog seal

None of these are correct

C

The flow-mass curve is graphical representation of

cumulative discharge and time

discharge and percentage probability of flow being equaled or exceeded
cumulative discharge, volume and time in chronological order
discharge and time in chronological order

C

Instantaneous unit hydrograph is a hydrograph of
unit duration

unit rainfall excess infinitely small duration

unit rainfall excess infinitely long duration

zero effective rainfall

For a catchment area of 120 km?, the equilibrium discharge in m3/hour of an S-curve
obtained by the summation of 6 hour unit hydrograph is

0.2 x 10°
0.6 x 10°
2.4 x 10°
7.2 x 10°
A

In India, which of the following is adopted as standard recording raingauge?
Symon's raingauge

Tipping bucket type

Syphon type

Weighing bucket type



Correct Answer C

Q.No: 88

o 0O @ r

The maximum average depth due to one day storm over an area of 100 km? is 100 mm.
Depth-Area-Duration (DAD) curves indicate that for the same area of 100 km? the
maximum average depth for a 3 hour storm will be

100 mm
more than 100 mm
less than 100 mm

none of these are correct

Correct Answer C

Q.No: 89

A
B
C
D

The most suitable chemical which can be applied to the water surface for reducing
evaporation is

methyl alcohol
ethyl alcohol
cetyl alcohol

butyl alcohol

Correct Answer C

Q.No: 90
A
B
C
D

Seepage through embankments in an earthen dam is controlled by
drainage filters

relief wells

drain trenches

provision of downstream berms

Correct Answer A

Q.No: 91
A
B
C
D

The flow of water after spilling over the weir crest in chute spillway respectively are
at right angle and parallel to weir crest

parallel and at right angle to weir crest

parallel to weir crest in both

at right angle to weir crest in both

Question Deleted

Q.No: 92

Which of the following spillways is least suitable for an earthen dam ?
Ogee spillway
Chute spillway



C Side channel spillway
D Shaft spillway

Correct Answer A

The discharge passing over an ogee spillway is given by

Q.No: 93 (where, L is effective length of spillway crest and H is the total head over the spillway
crest including velocity head.)

A CLH3/2

B CHL3/?

C CLH®/2

D CLH'/2

Correct Answer A

Which of the following methods is used to estimate flood discharge based on high water

Q.No: 94 marks left over in the past ?
A slope-area method

B area-velocity method

C moving boat method

D ultra-sonic method

Correct Answer A

Q.No: 95 If the Froude number of a hydraulic jump is 5.50, it can be classified as
A an oscillating jump

B a weak jump

C a strong jump

D a steady jump

Correct Answer D

Q.No: 96 In a Canal Syphon type Cross Drainage Work
A canal bed is below the drain

B canal bed is above the drain

C canal bed and the drain at the same level

D canal and the drain crossing at right angles

Correct Answer A

Q.No: 97 For a discharge of 2.01 m3/s and silt factor f=0.85 using Lacey's theory, the velocity is



A 0.467 m/s
B 2.567 m/s
C 4.667 m/s

6.777 m/s

Correct Answer A

Q.No: 98 Water requirement for the crops is equal to

A Consumptive use

B Consumptive use + Application loss

C Consumptive use + Application loss + Special needs for land preparation, transplantation
D Consumptive use + Application loss + Surface runoff

Correct Answer C

Q.No: 99 Gram crop has a Kor period of 18 days and Kor depth of 12 cm. The duty of the gram is
A 520 ha/cumec

B 790 ha/cumec

C 960 ha/cumec

D 1296 ha/cumec

Correct Answer D

Q.No: 100 The permeability of an aquifer

A increases with increase in temperature

B increases with the decrease in temperature
C is independent of temperature

D decreases with the decrease in temperature

Question Deleted
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Q.No: 1 The firing order of a 4 stroke 4 cylinder S.I.engine is
A 1243
B 1342
C 1432
D 1234

Correct Answer B

In a combine harvester the ratio of reel peripheral speed of forward speed(reel speed

Q.No: 2 index) should normally be in the range of
A 1.25 to 1.50

B 1.50 to 1.75

C 1.75 to 2.0

D None of these are correct

Correct Answer A

Q.No: 3 The size of a seed drill is expressed by

A The amount of seed shown per unit time

B Length x Width of the machine

C Area covered per unit time

D The number of furrow openers x Distance between two furrow openers

Correct Answer D

Q.No: 4 What is the natural frequency of driver seat suspension?
0.5 to 2.0 Hz

B 2.1 to 4.0 Hz

C 4.1 to 6.0 Hz

O

6.1 to 10.0 Hz



Correct Answer A

Q.No: 5 Calorific value of rice husk is approximately
A 3000 Kcal/kg

B 5600 Kcal/kg

C 7000 Kcal/kg

D 11000 Kcal/kg

Correct Answer A

Q.No: 6 The moisture content of paddy at the time of milling should be in the range of
A 9 to 10%

B 11 to 12%

C 13 to 14%

D 16 to 18%

Correct Answer C

Q.No: 7 Moving the center of gravity of a tractor towards its front wheel creates the problem of
A Instability

B Steering

C Over turning

D None of these are correct

Correct Answer B

Q.No: 8 In reciprocating type mowers, the knife clip of knife section restricts
A Horizontal displacement of knife

B Side displacement of knife

C Vertical displacement of knife

D Horizontal and side displacement of knife

Correct Answer C

Q.No: 9 Recommended peripheral velocity of spike tooth threshing cylinder for wheat crop is

Less than 20 m/s

B 20 to 30 m/s
C 31 to40 m/s
D More than 40 m/s



Correct Answer B

The difference between the values of initial and equilibrium moisture content of food is

Q-No: 10 known as

A Unbound moisture content
B Bound moisture content

C Free moisture content

D Critical moisture content

Correct Answer C

Q.No: 11 Shortening of top link length of a tractor
A Increases weight transfer on rear wheel
B Decreases weight transfer an rear wheel
C Increases penetration of implement
D Decreases penetration of implement

Correct Answer D

Q.No: 12 Drying of fruit pulp can be accomplished by a
A Tray dryer

B Fluidized bed dryer

C Drum dryer

D Spray dryer

Correct Answer C

Q.No: 13 An animal drawn seed drill has K nhumber of furrow openers at 180mm apart. If the speed
T of operation is 2.0 Kmph. The area covered (ha) in 8-h day is given by

A 1.85/1000 K

B 28.8 x 102K
C K/6.56
D 1.762 K

Correct Answer B

Q.No: 14 The main difference between fly wheel & governor is
A Govenner is heavier than flywheel
B Flywheel is fixed to the crankshaft while govenner is not

C Flywheel store energy & govenner controls engine speed



D

Correct Answer

Q.No: 15
A
B
C
D

Correct Answer

Q.No: 16
A
B
C
D

Correct Answer

Q.No: 17
A
B
C
D

Correct Answer

Q.No: 18
A
B
C
D

Correct Answer

Q.No: 19

None of these are correct

C

The most used and least efficient power outlet of a tractor is

Power take off & halt in the front
Power take off & halt in the rear
Drawbar in the rear

None of these are correct

C

The inflation pressure in front tyres of tractor is
1.2 - 2.0 kg/cm?

2.0 - 2.5 kg/cm?

2.5 - 3.0 kg/cm?

3.0 - 4.0 kg/cm?

B

Unit for measurement of vaccum is
Kgf/cm?

Torr

BTU

None of these are correct

A

Conduction of heat transfer is quantified by
Fourier's law

Laplace law

Bueke-plummer equation

Black-Kizrey equation

A

Freeze drying time is directly proportional to the
Thickness
Square of the thickness

Cube of thickness

of the material being dried



D Fourth order of thickness

Correct Answer B

Q.No: 20 Butter must contain % fat
A 60
B 70
C 80
D 90

Correct Answer C

Q.No: 21 In a stall barn, the floor space required for each cow is between
A 3.50 to 5.50 m?

B 5.6 to 7.5 m?

C 7.6 to 9.5 m?

D 9.6 to 11.6 m?

Correct Answer D

Q.No: 22 Paddy is normally stored at

A 12 per cent moisture content on dry basis
B 12 per cent moisture content on wet basis
C 15 per cent moisture content on wet basis
D 15 per cent moisture content on dry basis

Correct Answer B

Q.No: 23 The orange color tomato is due to
A Chlorophyll A

B Anthocyanims

C Xanthans

D Lycopene

Correct Answer D

Q.No: 24 Solar energy available outside earth's atmosphere per square meter is equal to about
A 350 w
B 200 W

C 1050w



D

Correct Answer

Q.No: 25
A
B
C
D

Correct Answer

Q.No: 26
A
B
C
D

Correct Answer

Q.No: 27
A
B
C
D

Correct Answer

Q.No: 28
A
B
C
D

Correct Answer

Q.No: 29

1350w
D

Energy required to break a drop of liquid into small droplets will be depend mainly on
The surface tension of the liquid

The viscosity of the liquid

The density of the liquid

The heat capacity of the liquid

A

The major protein in wheat flour is
Zein

Gluten

Orzgenin

Hordenin

Jenssen equation is related to
Storage silo design

Size reduction of particles
Grain transportation system
Size separation of grains

A

Under falling rate period, the drying rate is proportional to the difference between
Critical and equilibrium moisture content

Initial and equilibrium moisture content

Initial and critical moisture content

Moisture content below critical and equilibrium moisture content

D

The percentage of polish recommended for rice is
5%

10 %

20 %



D 30 %

Correct Answer A

Q.No: 30 When a thresher is giving more brocken grains, the reason for that is
A Higher threshing cylinder speed

B Lower cylinder speed

C More cylinder concave clearance

D None of these options are correct

Correct Answer A

Q.No: 31 When a plough works round the strip of ploughed land, then its said to be
A Gathering

B Crowning

C Casting

D Ridging

Correct Answer A

Bacterial population in milk increases 200 times in 18 hours of storage at 20°C .The

Q.No: 32 increase in population in 3 hours of storage at the same temperature is
A 1.34 times

B 2.42 times

C 7.02 times

D 14.14 times

Correct Answer B

Q.No: 33 The fundamental principle of preserving food by heat is known as:
A Pasteurization

B Chemical preservation

C Freezing

D Sublimation

Correct Answer A

If moisture content on wet basis is 25% then what would be the moisture content on dry
basis

A 33 %
B 30 %

Q.No: 34



C 45 %
D 20 %

Correct Answer A

Q.No: 35 T!1e relation between RH (Relative humidity) and EMC (Equilibrium moisture content) is
given by

A Janssen

B Rankine

C Henderson

D Newton

Correct Answer C

Q.No: 36 Camber angle varies from
A 0.25° to 4°
B 10° to 12°
C 13° to 15°
D 16° to 20°

Correct Answer A

Q.No: 37 Which of the following constituents of steel is softest and least strong
A Austenite

B Pearlite

C Ferrite

D Cementite

Correct Answer C

Q.No: 38 The percentage of carbon in pig iron various from
A 0.1to0 1.2 %
B 1.5to 2.5 %
C 2.5 t0 4.0 %
D 4.0 to 4.5 %

Correct Answer D

Q.No: 39 The material used for coating the electrode is called
A Protective layer

B Binder



C Slag
D Flux

Correct Answer D

Q.No: 40 The metallic structure of mild steel is
A Body centered cubic

B Face centered close cubic

C Hexagonal close packed

D Cubic structure

Correct Answer A

Q.No: 41 When welding is going on, arc voltage is of the order of
A 18 - 40 volts

B 40 - 95 volts

C 100 - 125 volts

D 130 - 170 volts

Correct Answer A

Q.No: 42 Copper is

A Easily spot welded

B Very difficult to be spot welded
C Cannot spot welded

D None of these are correct

Correct Answer B

Q.No: 43 The most commonly used flame in gas welding is
A Neutral

B Oxidising

C Carburising

D All the options are correct

Correct Answer A

Q.No: 44 In machine tools, chatter is due to
A Free vibrations

B Random vibrations



C Forced vibrations
D Self-exicited vibrations

Correct Answer D

Q.No: 45 Which test is not related with fuel
A Octane number

B Reynolds number

C Cetane number

D None of these are correct

Correct Answer B

Q.No: 46 To separate the mustered from wheat the recommended separator is
A Indented cylinder separator

B Specific gravity separator

C Spiral separator

D Air screen separator

Correct Answer C

Q.No: 47 LSU dryer was developed at
A Louisiana State University
B IIT kharagpur

C CIAE Bhopal

D CFTRI Mysore

Correct Answer A

Q.No: 48 Psychometric charts represents properties of air
A Chemical

B Aerodynamic

C Physico thermal

D Hydroscopic

Correct Answer C

Q.No: 49 The oil to be used in engine for lubrication purpose
A SAE 90
B SAE 50



C SAE 30
D None of these are correct

Correct Answer C

Q.No: 50 Bore is

A Diameter of an engine cylinder
B Length of an engine cylinder

C Area of an engine cylinder

D None of these are correct

Correct Answer A

Q.No: 51 Double mass analysis is used for testing the of rainfall records at concerned
o station

A adequacy

B accuracy

C consistency

D degeneracy

Correct Answer C

Q.No: 52 As the rainfall duration increases the rainfall intensity
A decreases

B increases

C remains same

D cannot be said

Correct Answer A

is referred as movement of sediment particles in a series of bounces over a

Q.No: 53 channel bed surface.

A Surface creep

B Saltation

C Suspension

D None of these are correct

Correct Answer B

Q.No: 54 gullies develop in the areas where the sub soil is resistant erosion.

A V shaped



B
C
D

Correct Answer

Q.No: 55
A
B
C
D

Correct Answer

Q.No: 56
A
B
C
D

Correct Answer

Q.No: 57

A
B
C
D

Correct Answer

Q.No: 58
A
B
C
D

Correct Answer

Q.No: 59

U shaped
W shaped
None of these are correct

A

Universal soil loss equation was proposed by

Musgrave and Zingg
Williams and Smith
Wishmeier and Smith
Wishmeier and Musgrave

C

is also known as channel - type terrace.

Broad base terrace
Narrow base terrace
Bench terrace
Staggered trenches
A

The inequilibrium stage is also called as
development process.

Mature stage
Monadknock stage
Young stage

None of these are correct

C

, which reveals that watershed is under

Function of emergency spillway in storage structure is to

Prevent overtopping
Prevent seepage

Prevent sloughing

None of these are correct

A

The ratio of the area of watershed to the square of length of watershed is known as



>

Shape index

sy

Form factor

(@]

Area ratio
Area length ratio

Correct Answer B

Q.No: 60 Hydrologic response of the large watersheds is dominated by
A Overland flow

B Critical flow

C Channel storage

D Channel precipitation

Correct Answer C

Q.No: 61 Unit hydrograph represents unit
A Precipitation

B Duration

C Effective rainfall

D Area of watershed

Correct Answer C

Q.No: 62 The elevation difference in two consecutive terraces is known as
A Contour interval

B Horizontal interval

C Vertical interval

D None of these are correct

Correct Answer C

Q.No: 63 is used to determine the area of irregular shaped plan.
A Clinometers

B Odometer

C Planimeter

D Pentagraph

Correct Answer C

is any arbitrarily assumed level surface from which vertical distances are

Q.No: 64 measured.



>

Bench mark

sy

Datum surface

(@]

Horizontal plane
Collimation plane

Correct Answer B

Q.No: 65 The. resultant qf al! the forces acting on dam should be within the of base to
avoid any tension in the dam.

A Initial third

B Middle third

C Final third

D Limits

Correct Answer B

Q.No: 66 World meteorological organization recommends that in flat regions one rain gauge station
should be for

A 100 to 300 sq.km

B 300 to 600 sq.km

C 900 to 1200 sq.km

D 600 to 900 sq.km

Correct Answer D

Q.No: 67 __ trenches are shorter in length and are arranged along the contour with inter
space between them.

A Contour

B Staggered

C Continuous

D None of these are correct

Correct Answer B

The distance measured by 20m chain is 8 chain and 25 links, which will be equal to

Q.No: 68

A 241.5m

B 165.0m

C 544.5m

D None of these are correct

Correct Answer B



The contour interval on the toposheets, prepared by Survey of India, having the scale of

Q.No: 69 1:50000 is m.
A 5

B 10

C 20

D 30

Correct Answer C

Q.No: 70 A stream which receive groundwater flow is called
A Influent stream

B Ephemeral stream

C Effluent stream

D None of the these options are correct

Correct Answer C

Q.No: 71 Most important cause of wind erosion is
A Storms of high intensity

B Clay size particles in soil

C Mismanagement of land resources

D Alkalinity of soil surface

Correct Answer C

Q.No: 72 The factors 'L' and 'S’ in USLE are combinedly called as factor.
A Topic

B Topologic

C Topographic

D Physiologic

Correct Answer C

. atter slope in bench terraces is mainly given for providing to the fill material or
Q.No: 73 B | inb h i inly gi f idi he fill ial
o embankment.
Support
B Stability
C Strength

O

None of these are correct



Correct Answer B

Q.No: 74 Land use recommended for land capability class VIII is
A Agriculture

B Horticulture

C Recreation

D Agro-forestry

Correct Answer C

Q.No: 75 The three sides of a triangular field are 24,45 and 51m respectively. Then the area of field

is__ m?
A 540
B 612
C 1080
D 1147.5

Correct Answer A

The number of hectares of the crop successfully raised with irrigation by constant flow of

Q.No: 76 one cumec of water throughout the growth period is
A Base

B Delta

C Duty

D None of these are correct

Correct Answer C

Q.No: 77 Suction lift exists when the source of water supply is
A Above the center line of pump

B At the center line of pump

C Below the center line of pump

D None of these are correct

Correct Answer C

Q.No: 78 An aquifer found between two impervious layers is said to be
A Leaky aquifer
B Non artesian aquifer

C Artesian aquifer



D

Correct Answer

Q.No: 79
A
B
C
D

Correct Answer

Q.No: 80

0O @ >

Correct Answer

Q.No: 81

A
B
C
D

Correct Answer

Q.No: 82
A
B
C
D

Correct Answer

Q.No: 83

Semi confined aquifer

C

Break horse power of centrifugal pump increases as the discharge
Decreases

Remains unchanged

Increases

None of these are correct

C

I. The application rate of sprinkler depends on the size of sprinkler nozzle.

I1. The application rate of sprinkler depends on operating pressure and spacing between
the sprinklers.

Which of the following statements is correct
Statement I is correct and II is incorrect
Statement II is correct and I is incorrect
Both statements I and II are correct

Both statements II and I are incorrect

C

As compared to conventional irrigation, saving of water can be achieved by drip
irrigation.

5 to 10%
10 to 15 %
15to 30 %
40 to 60 %
D

Drip irrigation can achieve the efficiency of about %.
90 to 95

70 to 85

60 to 70

40 to 60

A

The electrical conductivity of alkali soils is usually



A 10 to 12 ds m™
B 6 to 8ds m™
C 4to6ds m?

Less than 4 ds m™

Correct Answer D

Q.No: 84 Gypsum is commonly used for reclamation of type of soil.
A Vertisol

B Sodic

Cc Saline

D Inceptisol

Correct Answer B

Q.No: 85 The drainable porosity at saturation is
A 100

B 50

C 1]

D None of these are correct

Correct Answer C

Q.No: 86 Drainage coefficient is the depth of water (cm) to be removed from an area in a period of
A 12 hours

B 24 hours

C 6 hours

D 10 hours

Correct Answer B

Q.No: 87 The speed of sprinkler head should be about for maximum coverage.
A 4-6 rpm

B 3-4 rpm

C 2-3 rpm

D Less than 1 rpm

Correct Answer D

Q.No: 88 A sheet of water, which overflows a weir, is called as



A Nappe
B Head
C Either (Nappe) OR (Head)

None of these are correct

Correct Answer A

Q.No: 89 is the soil moisture content at which the wilting is complete and the plants die.
A Permanent wilting point

B Temporary wilting point

C Ultimate wilting point

D Wilting range

Correct Answer C

Q.No: 90 The doan\{arc! movement of water through saturated or nearly saturated soil in response
to the gravity is called as

A Infiltration

B Interflow

C Percolation

D Seepage

Correct Answer C

Q.No: 91 The yalidity of Darcy's law is limited by the condition that the flow through the porous
medium must be .

A Laminar

B Transient

C Turbulent

D None of these are correct

Correct Answer A

The quantity of water that can be extracted by the gravity from unit volume of the

Q.No: 92 unconfined aquifer is called as
A Specific capacity

B Specific storage

C Specific yield

D Specific gravity

Correct Answer C



Water application efficiency in sprinkler irrigation is the ratio of water stored in the root

Q.No: 33 zone to the

A Water needed in the root zone
B Water diverted from source

C Water delivered to the field

D Water pumped from source

Correct Answer C

Quantity of water discharged in tile drain increases due to

I. Increase in drain spacing and increase in depth of drain

Q.No: 94
I1. Reduction in drain spacing and reduction in depth of drain
Which of the following is correct?

A Statement I is true and statement II is false

B Statement II is true and statement I is false

C Both statements I and II are true

D Both statements I and II are false

Correct Answer D

Q.No: 95 Evapotranspiration is measured by
A Blaney - criddle method

B Lysimeter

C Penman method

D All are correct

Correct Answer B

Q.No: 96 Wh?t would be del_ta for a crop when its duty is 864 hectare /cumec on a field, if the base
period of the crop is 120 days?

A 72

B 120

C 6220.8

D None of these are correct

Correct Answer B

Q.No: 97 is used as crop for determination of reference crop evapotranspiration.
A Sunflower

B Stylo grass



C Alfalfa grass
D Sugar cane

Correct Answer C

Q.No: 98 In hard rock terrains wells are recommended.
A Open wells

B Bore wells

C Both 'Open wells' and 'Bore wells'

D None of these are correct

Correct Answer A

Q.No: 99 Wheat crop require 45 cm irrigation water during 120 days of base period. How much area
T can be irrigated with a flow of 20 liter per second for 22 hours per day?

A 41.24 ha.

B 42.24 ha.
C 43.24 ha.
D 45.24 ha.

Correct Answer B

Q.No: 100 Tht.e flischa_rge of a centrifugal pump is 6000 Ii.ter/min against a! head of 15m. The pump
efficiency is 60 per cent. What would be the size of motor required?

A 31.3 hp

B 33.3 hp

C 35.3 hp

D None of these are correct

Correct Answer B



Q.No: 1
A
B
C

D

Correct Answer

Q.No: 2

D

Correct Answer

Q.No: 3
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Correct Answer
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The equivalent bending moment under combined action of bending moment M and torque
Tis

VM2 +T?
%vM3+T3

M ++/M2Z + T2
ZM+VMZ¥TE)

D

PL3

3EI js the deflection under the load 'P' of a cantilever beam (Length 'L', Modulus of
elasticity 'E' and Moment of inertia 'I'). The strain energy due to bending is

piL3
3EI
P32
6EI

PlL3
AEI
PiL3
48EI
B

The outside diameter of a hollow shaft is twice of it's inside diameter. The ratio of its
torque carrying capacity of that of a solid shaft of the same material and same outside
diameter is

15/16
3/4
1/2
1/16
A



Q.No: 4

o 0O W r

Correct Answer

Q.No: 5
A
B
C
D

Correct Answer

Q.No: 6

A
B
C
D

Correct Answer

Q.No: 7
A
B
C
D

Correct Answer

Q.No: 8

A square bar of side 4 cm and length 100 cm is subjected to axial load P. The same bar is
then used as a cantilever beam and subjected to an end load P. The ratio of the strain
energies, stored in the bar in the second case to that stored in first case, is

16
400
1000
2500
D

Which theory of failure is applicable for copper components under steady load?
Principal stress theory

Strain energy theory

Maximum shear stress theory

Principal strain theory

C

The bucking load for a column one end fixed and other end free is 10kN. If both ends of
this column is fixed, then what would be the buckling load capacity of this column ?

10 kN
20 kN
80 kN
160 kN
D

In a laminated spring the strips are provided in different lengths for
Equal distribution of stress

Equal distribution of strain energy

Reduction in weight

All are correct

A

Wire diameter, mean coil diameter and number of turns of a closely-coiled steel spring are
d, D and N respectively and stiffness of the spring is K. A second spring is made of same
steel but with wire diameter, mean coil diameter and number of turns 2d, 2D and 2N
respectively. The stiffness of the new spring is

K
2K



C 4K
D 8K

Correct Answer A

Q.No: 9 Hoop stress in a thin cylinder of a diameter 'd’' and thickness 't' subjected to pressure 'P’
T will be
Pd
A FrURREE,
4t
Pd
B R
2t
2Pd
C e
t
Pd
D e
t

Correct Answer B

A mass less beam has a loading pattern as shown in Fig. The beam is of rectangular cross-
section with a width of 30 mm and height of 100 mm
3 kM m

m

Q.No: 10 A/E\ A A 4

The maximum bending moment occurs at

A Location B
B 2500 mm to the right of A
C 2675 mm to the right of A

3225 mm to the right of A

Question Deleted

Q.No: 11 Instantaneous center of a body rolling with sliding on a stationary curved surface lies
A At the point of contact

B On the common tangent at the point of contact

C On the common normal at the point of contact

D None of these are correct

Correct Answer C



Q.No: 12

>
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Correct Answer

Q.No: 13
A
B
C
D

Correct Answer

Q.No: 14

A
B
C
D

Correct Answer

Q.No: 15

0O @ >

Correct Answer

Q.No: 16

O 0O @

When a slider moves with a velocity 'v' on a link rotating at an angular speed of 'civ' the
coriolis component of acceleration is given by

J viw
v

vl /2
2v

D

In spur gears, the circle on which the involute is generated is called
Pitch circle

Clearance circle

Base circle

Addendum circle

C

In a simple gear train, if the number of idler gear is odd, then the direction of motion of
driven gear will

be same as that of the driving gear

be opposite to the driving gear

depend upon the number of teeth on both gears
depend upon the size of the gears

A

The choice of displacement diagram during the rise or return of a follower of a cam-
follower mechanism is based on dynamic considerations. For high speed cam, follower will
have which one of the following

Cycloidal motion

Simple harmonic motion

Parabolic or uniform acceleration motion
Uniform motion or constant velocity motion

A

Which one of the following can completely balance several masses revolving in different
planes on a shaft ?

A single mass in any one plane
A single mass in one of the planes of the revolving masses
Two masses in any two planes

Two equal masses in any planes



Correct Answer C

The primary distributing force due to inertia of reciprocating parts of mass 'm' at radius 'r'

Q.No: 17 rotating with an angular velocity '’ is given by
A mw? r sin O
B mw? r cos O
28
C 2 cin\n
mw? rsin \ n
28
D )2 n
md“rcos 8

Correct Answer B

a kl = ¥

B B ATATATAY A —
Q.No: 18 ] W "

=i % 2 L) B

ok I

Which one of the following is the correct value of the natural frequency (:,) of the system
given above ?

L
1 2
A E i 1
k1+k2+k_3 o
ot
: ()
Im

Correct Answer

A shaft carries a weight 'w' at the centre. The CG of the weight is displaced by an amount
'e' from the axis of the rotation. If 'y’ is the additional displacement of the CG from the
axis of rotation due to the centrifugal force, then the ratio of 'y’ to e (where ' is the
critical speed of shaft and « is the angular speed of shaft) is given by

Q.No: 19



D

Correct Answer

Q.No: 20
A
B
C
D

Correct Answer

Q.No: 21
A
B
C
D

Correct Answer

Q.No: 22

A
B
C
D

Correct Answer

Q.No: 23

The effect of gyroscopic couple on rolling of ships is
Very high
Very low
No effect
Moderate

C

A transmission shaft subjected to bending loads must be designed on the basis of
Maximum shear stress theory

Fatigue strength

Maximum normal stress and maximum shear stress theories

Maximum normal stress theory

D

The design calculations for members subject to fluctuating loads with the same factor of
safety yield the most conservative estimates when using

Gerber relation
Soderberg relation
Goodman relation

None of these are correct

Stress concentration in a machine component of ductile materials is not so harmful as it is
in brittle materials because

In ductile materials local yielding may distribute stress concentration

Ductile materials have large Young's modulus



C
D

Correct Answer

Q.No: 24

A
B
C
D

Correct Answer

Q.No: 25

A
B
C
D

Correct Answer

Q.No: 26
A
B
C

D

Correct Answer

Q.No: 27

A
B
C
D

Correct Answer

Q.No: 28

Poisson's ratio is larger in ductile materials
Modulus of rigidity is larger in ductile materials

A

The power transmitted by a belt is dependent on the centrifugal effect in the belt . The
maximum power can be transmitted when the centrifugal tension is

1/3 of the tension (T;) on the tight side

1/3 of the total tension (T;) on the tight side
1/3 of the tension (T,) on the slack side

1/3 of the tension (T;) and (T,)

B

The permissible stress in fillet weld is 100 N/mm? . The fillet weld has equal leg lengths of
15 mm each. The allowable shearing load on per cm length of the weld is

22.5 kN
15.0 kN
10.6 kN
7.5 kN
C

The shearing area of a Key of length 'L' breadth 'b’' depth 'h' is equal to
bXh
LXh
LXb
L X 1—1
2

C

In the calculation of induced shear stress in the helical springs, the wahl's correction
factor is used to take of

combined effect of transverse shear stress and bending stress in wire
combined effect of bending stress and curvature of wire

combined effect of transverse shear stress and curvature of wire
combined effect of torsional shear stress & transverse shear stress of wire

C

Which sunk key is made from a segment of a circular disc of uniform thickness, known as



>

Feather key

sy

Kennedy key

(@]

Woodruff key
Saddle key

Correct Answer C

Q.No: 29 How can shock absorbing capacity of a bolt be increased

A By tightening it properly

B By increasing the shank diameter

C By grinding the shank

D By making the shank diameter equal to the core diameter of thread

Correct Answer D

Q.No: 30 In a fillet welded joint, the weakest area of the weld is :
A toe

B throat

C root

D face

Correct Answer B

Q.No: 31 :rhe rake.angle qf a cutting tool is 10°,shear angle 35° and cutting velocity 25 m/min. What
is the chip velocity along tool face?

A 1.9 m/min

B 3.9 m/min

C 7.9 m/min

D 15.8 m/min

Correct Answer D

In abrasive jet machining as the distance between nozzle tip and the work surface

Q.No: 32 increases, the material removal rate

A Increases continuously

B Decreases continuously

C Decreases, becomes stable & then increases
D Increases, becomes stable & then decreases

Correct Answer D



Q.No: 33 As tool and work are not in contact in EDM process

A no relative motion occurs between them

B no wear of tool occurs

C no power is consumed during metal cutting
D no force between tool and work occurs

Correct Answer D

Q.No: 34 A.50 mm diameter disc is to be punched out from a carbon steel sheet 1.0 mm thick. The
diameter of the punch should be

A 42.925 mm

B 50.00 mm

C 50.075 mm

D None of these are correct

Correct Answer D

Q.No: 35 3-2-1 method of location of jig or fixtur.e .v!lould collectively restrict the work piece in 'n’
degree of freedom, where the value of 'n' is

A 9

B 6

C 8

D 1

Correct Answer A

Q.No: 36 Auto collimeter is used to check
A Roughness

B Flatness

C Angle

D Automobile balance

Correct Answer C

Q.No: 37 On a triple start, thread screw
A Lead = pitch

B Lead = 3 x pitch

C Lead = (1/2) x pitch

D Lead = 9 x pitch

Correct Answer B



Q.No: 38
A
B
C
D

Correct Answer

Q.No: 39
A
B
C
D

Correct Answer

Q.No: 40
A
B
C
D

Correct Answer

Q.No: 41

A
B
C
D

Correct Answer

Q.No: 42

The crater wear of a cutting tool is due to
Chemical action of the coolant

Excessive heat generated during cutting
Rubbing of tool against workplace
Abrasive action of the chip

D

The primary tool force is used in calculating the total power consumption in machining is
radial force

tangential force

axial force

frictional force

Which one of the following processes does not cause tool wear
Ultrasonic machining

Electro discharge machining

Laser beam machining

Anode mechanical machining

C

In a tool life test, doubling the cutting speed reduces the tool life to (1/8)" of the original.
The Taylor's tool life index is

1/3
1/2
1/4
1/8
A

The standard time for an operation has been calculated as 10 minutes. The worker was
rated at 80%. If the relaxation and other allowances were 25%, then the normal time
would be

12.5 min
10 min

80 min



D 08 min

Correct Answer D

Q.No: 43 An inventory control theory, the economic order quantity (EOQ) is
A Average level of inventory

B Optimum lot size

C Lot size corresponding to break-even analysis

D Capacity of a warehouse

Correct Answer B

Which of the following method can be used for forecasting the sales potential of a new

Q.No: 44 product

A Direct survey method

B Time series analysis

C Jury executive opinion method
D Sales force composite method

Correct Answer A

Time estimates of an activity in a PERT network are:
optimistic time t, = 9 days,

Q.No: 45 pessimistic time t, = 21 days and most likely time t,, = 15 days
The approximate probability of completion of this activity in 13 days
A 34%
B 50%
C 16%
84%

Correct Answer C

In a queuing problem, if the arrivals are completely random, then the probability

Q.No: 46 distribution of number of arrivals in a given time follows :
A Poisson distribution

B Normal distribution

C Binomial distribution

D Exponential distribution

Correct Answer A

Q.No: 47 Which of the following is the measure of forecast error



0O m™ >

Correct Answer

Q.No: 48

A
B
C
D

Correct Answer

Q.No: 49

A
B
C
D

Correct Answer

Q.No: 50
A
B
C
D

Correct Answer

Q.No: 51

Mean absolute deviation
Trend value

Moving average

Price fluctuation

A

Which one of the following is not a technique under Predetermined motion time
system(PMTS) ?

Work factor
Synthetic data
Stopwatch time study
MTM

C

If in a process on the shop floor, the specification are not met, but the charts for variables
show control, then which of the following actions should be taken?

change the process

change the method of measurement

change the worker or provide him training
change the specifications or upgrade the process

C

An operating characteristic curve (OC curve) is a plot between
Consumer risk and producer risk

Probability of acceptance and probability of rejection
Percentage of defective and probability of acceptance
Average outgoing quality and probability of acceptance

C

Joule-Thomson coefficient is defined as
aT

&),
dH

(i),
dH

(5.



D

Correct Answer

Q.No: 52

o 0O m »r

Correct Answer

Q.No: 53

&),

A

The internal energy of a certain system is a function of temperature alone and is given by
the formula E = 25+0.25t kJ. If this system

executes a process for which the work done by it per degree temperature increases is 0.75
kN-m,

dE

— =0-W

dt W,

the heat interaction per degree temperature increase, in kJ, is
-1.00

1.00

-0.50

0.50

B

A cycle of pressure - volume diagram is shown in the figure

Pressure

Volume
Same cycle on temperature - entropy diagram will be represented by

T




T
B
C
C
fll'l
5
T
A B
D
C
5
Correct Answer B
dQ
Q.NO: 54 f—=UandﬂS}U,
When a system undergoes a process such that the process is
isothermal

reversible adiabatic

irreversible adiabatic

o 0O m >r

isobaric

Correct Answer C

A heat pump operating on Carnot cycle pumps heat from a reservoir at 300 K to a reservoir

Q.No: 55 at 600 K. The coefficient of performance is
A 1.5

B 0.5

C 2

D 1.0

Correct Answer C

Q.No: 56 The work done in compromising a gas isothermally is given by:
—
T PaNT
A —PV,[(2)" -1
T-1 P,

B mRT, log, %
1



D

Correct Answer

Q.No: 57

o 0O m »r

Correct Answer

mC,(T, —T,)

mHTl(l—T—

1

Consider the following statements
1)Avaliability is the maximum theoretical work obtainable
2)Clapeyron's equation for dry saturated steam is given by

dTg (hg—hs
v, — V= I (heoh)
dP \ T

3)A gas can have any temperature at a given pressure unlike a vapour, which has a fixed
temperature at a given pressure.
B (ﬂs)
H dP y

4)Joule Thomson coefficient is expressed as of these statements
1,2,3 are correct

1,3 and 4 are correct

2 and 3 are correct

1,2 and 4 are correct

A

Q.No: 58 The heat absorbed or rejected during a polytropic process is equal to
- 1{.’2
A (]:) x workdone
B x workdone
C (T—:) x workdone
D (: x workdone
Correct Answer D
i
3 4
T
Q.No: 59
2 1
o
5

The thermo dynamic cycle shown above on the T-S diagram pertains to which one of the



following ?
Stirling cycle
Ericsson cycle

Vapour compression

o 0O w »r

Brayton cycle

Question Deleted

What is the loss of available energy associated with the transfer of 1000kJ of heat from a

Q.No: 60 constant temperature system at 600K to another at 400K? When the environmental
temperature is 300K?

A 140 kJ

B 250 kJ

C 166.67 kJ

D 180 kJ

Correct Answer B

The depth of a fluid is measured in vertical Z-direction; X and Y are the other two
Q.No: 61 directions and are mutually perpendicular. The static pressure variation in the fluid is
given by (symbols have the usual meaning).

Correct Answer D

Q.No: 62 Surface tension is due to

A Cohesion

B Viscous force

C Adhesion

D The difference between adhesive and cohesive force

Correct Answer A



Q.No: 63 The density of a fluid is sensitive to changes is pressure. The fluid will be known as

A Newtonian fluid

B Perfect fluid

C Compressible fluid
D Real fluid

Correct Answer C

Q.No: 64 Isit Qossible to pump water available at around 100°C under atmospheric condition using
centrifugal pump placed near the tank

A No

B Yes

C Yes, if pump is selected properly

D None of these are correct

Correct Answer A

Q.No: 65 If the stream function is given by ¢'=3xy then the velocity at a point (2,3) will be
A 7.21 unit

B 10.82 unit

C 18 unit

D 54 unit

Correct Answer B

Q.No: 66 Why are the surge tanks used in pipe line?

A To reduce frictional loss in pipe

B To ensure uniform flow in pipe

C To relieve the pressure due to water hammer
D To reduce cavitalion

Correct Answer C

Consider the following statements in respect to Kaplan Turbine:
. 1) It is a reaction turbine
Q.No: 67 2) It is an impulse turbine
3) It has adjustable blades

1,2,and 3
2 and 3 only
1 and 2 only



D 1 and 3 only

Correct Answer D

Q.No: 68 The degree of reaction of a turbine is defined as a ration of

A Static pressure drop to total energy

B Total energy transfer to static pressure drop

C Change of velocity energy across the turbine to the total energy transfer
D Velocity energy to pressure energy

Correct Answer A

Q.No: 69 Eular number is defined as the ratio of inertia force to
A Viscous force

B Elastic force

Cc Pressure force

D Gravity force

Correct Answer C

Q.No: 70 The vanes of a unfrifugal pump are generally
A Radial

B Curved backward

C Curve forward

D Twisted

Correct Answer B

Q.No: 71 Heat transfer takes place according to
A Zeroth law of thermodynamics

B First law of thermodynamics

C Second law of thermodynamics

D Third law of thermodynamics

Correct Answer C

It is desired to increase the heat dissipation rate over the surface of an electronic device of
spherical shape of 5mm radius exposed to convection with h=10 W/m? K by encasing it in
a spherical sheath of conductivity 0.04 W/mK. For maximum heat flow, the diameter of the
sheath should be

A 18 mm

Q.No: 72



B 16 mm
C 12 mm
D 8 mm

Correct Answer B

Heat is lost from a 100 mm diameter steam pipe placed horizontally in ambient at 30°C. If
Q.No: 73 the Nusselt is 25 and thermal conductivity of air is 0.03 W/ mK, then the heat transfer
coefficient will be

7.5 W/ m3K
16.2 W/m2K
25.2 W/m3K

o 0O m >r

30 W/m3K

Correct Answer A

What is the expression for the thermal conduction resistance to heat transfer through a

Q.No: 74 hollow sphere of inner radius r;, and outer radius r,, and thermal conductivity K?
A (r2 —m)nn
47k
4k (1o — 11)
B
LE R
a—Ts
C ool S
47K 117
D None of these is correct
Correct Answer C
Q.No: 75 For the radiation between two infinite parallel planes of emissivity €1 and €2
respectively, which one of the following is the expression for emissivity factor?
A &1:E€2
1 1
B —+ —
€1 €2
1
C 1 1
Lot + S
€1 £2
1
D 1 1
—+=-1



Correct Answer

Q.No: 76

o 0O @ r

Correct Answer

Q.No: 77
A
B
C
D

Correct Answer

Q.No: 78

A
B
C
D

Correct Answer

Q.No: 79

D

For simple vapour compression cycle, enthalpy at suction=1600 kJ/kg, enthalpy at
discharge from the compressor =1800 kJ/kg, enthalpy at exit from condenser =600 kJ/kg.
What is the COP for this refrigeration cycle?

3.3
5.0
4.0
4.5
B

The leaks is a refrigeration system using freon are defected by

A halide torch, which on detection produces greenish flame lighting
Sulphur sticks, which on detection gives white smoke

Using reagents

Sensing reduction pressure

A

What is the saturation temperature at the partial pressure of water vapour in the air water
vapour mixture called?

Dry bulb temperature
Wet bulb temperature
Dew point temperature
Saturation temperature

C

|

specific
humidity

W

wht = constant

dbt

Which one of the following statement is correct for a cooling and humidification process 1-
2 as shown on the psychometric chart shown in figure?

wbt decreases in the process

The total enthalpy increases in the process



C
D

Correct Answer

Q.No: 80

A
B
C
D

Correct Answer

Q.No: 81

D

Correct Answer

Q.No: 82

A
B
C
D

Correct Answer

Q.No: 83
A
B
C
D

Correct Answer

The total enthalpy remains constant in the process
It is an adiabatic saturation process

A human body feels comfortable when the heat produced by the metabolism of human
body is equal to

Heat dissipated to surroundings

Heat stored in the human body

Sum of Heat dissipated to surroundings and Heat stored in the human body
Difference of Heat dissipated to surroundings and Heat stored in the human body

C

The order of values of thermal efficiency of Otto, Diesel and Dual cycle, when they have
equal compression ratio and heat rejection, is given by

Notto = Npieset = Nbual

Npiesel = Npual = Notto
Npual = Npiesel = Notto

Notto = Npual = Nbiesel

D

The method of determination of indicated power of multi cylinder SI engine is given by the
use of

Morse test

Prony break test
Prony heat test
Heat balance test

A

In spark ignition engines knocking can be reduced by:
Increasing the compression ration

Increasing the cooling water temperature

Retarding the spark advance

Increasing the inlet air temperature

C



Q.No: 84

A
B
C
D

Correct Answer

Q.No: 85
A
B
C
D

Correct Answer

Q.No: 86
A
B
C
D

Correct Answer

Q.No: 87
A
B
C
D

Correct Answer

Q.No: 88
A
B
C
D

Correct Answer

Which of the following set of materials in most commonly used in catalytic converters for
CI engines?

Platinum, Palladium and Rhodium
Palladium, Rhodium and Ruthenium
Rhodium , Ruthenium and Platinum
Ruthenium , Platinum and Palladium

A

The three way catalytic converter cannot control which one of the following?
HC emission

CO emission

NO, emission

PM emission

D

In thermal power plants, the deaerator is used mainly to
Remove air from condenser

Increase firewater temperature

Reduce steam pressure

Remove dissolved gases from feed water

D

The most commonly used moderator in nuclear power plants is
Heavy water

Concrete and bricks

Steel

Graphite

D

The efficiency of a simple gas turbine can be improved by using a regenerator, because the
Work of compression is reduced

Heat required to be supplied is reduced

Work out put of the turbine is increased

Heat rejected is increased



Given that

Q.No: 89 N = speed, P=power, H=heat
The specific speed of hydraulic turbine is given by
A Nw.."'_F
u*s
N+P
B 54
H4
PVN
C ?
H /s
PvN
D 5
H/s

Correct Answer B

In a two stage compressor with ideal inter cooling, for the work requirement to be

Q.No: 90 minimum, the intermediate pressure Pi in terms of condenser and evaporator pressure Pc
and Pe respectively is

A Pi=Pc Pe

B Pi:x-'m

C Pi = J PC fie

D Pi=Pc /Pe

Correct Answer B

Q.No: 91 General description of CAD does not consist of
A Implementation

B Synthesis

C Presentation

D Optimization

Correct Answer A

Q.No: 92 Volume of work produced in FMS environment is determined from

Number of machine used in the FMS

oY)

Kind of material handling equipment used in FMS

(@]

King of layout used in FMS

O

All are correct



Correct Answer

Q.No: 93
A
B
C
D

Correct Answer

Q.No: 94
A
B
C
D

Correct Answer

Q.No: 95

A
B
C
D

Correct Answer

Q.No: 96
A
B
C
D

Correct Answer

Q.No: 97

O 0O w

D

The axis movement of a robot may include
Elbow rotation

Wrist rotation

X-Y coordinate motion

Elbow, wrist and X-Y coordinate motion

D

Which is one of the following not the output device?
Printer

Stylus

Display device

Plotter

B

Machining time in NC and CNC machine tools is
machine tool

More

Less
Unpredictable
Equal

B

in comparison to conversional

What is the purpose of satellite computers in Distributed Numerical Control machines?

To act as stand by systems

To share the processing of large size NC
To serve a group of NC machines

To network with another DNC setup

In which machining system, the highest level of automation is found?

CNC machine tools

Automatic transfer machines

Machine tools with electro hydraulic positioning and control

DNC machining system



Correct Answer C

Q.No: 98 Whi_ch one of the following has automatic tool changing unit and a component indexing
device

A Machining center

B NC system

C CNC system

D DNC system

Correct Answer A

Q.No: 99 Transfer machines can be defined as :

A Material Processing machines

B Material handling machines

C Material Processing and Material handling machines
D Components feeders for automatic assembly

Correct Answer C

Q.No: 100 Punched tape is used in?
A NC machine

B CNC machine

C NC and CNC both

D DNC machine

Correct Answer A





